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B.R.A. BIHAR UNIVERSITY, MUZAFFARPUR 
Question Bank 

T.D.C. (2019-2022) 

B.A. Part-1, Paper No. -1 

Political Science Honours 

Subject - POLITICAL THEORY 

1. What is root word of the word 'Politics'? 

 a. Political  

 b. Polis 

 c. Policy 

 d. Police 

 ^ikfyfVDl* 'kCn dh mRifÙk fdl ewy 'kCn ls gqbZ gS\ 

 v- ikfyfVdy 

 c- iksfyl 

 l- iksfylh 

 n- iqfyl 

2. Which among the following language, the word 'Polis' is derived from? 

 a. Latin language 

 b. Greek language 

 c. Sanskrit language 

 d. Hindi language 

 fuEufyf[kr Hkk"kkvksa esa ls fdl Hkk"kk ls ^iksfyl* 'kCn dh mRifÙk gqbZ gS\ 

 v- ySfVu Hkk"kk 

 c- xzhd Hkk"kk 

 l- laLd`r Hkk"kk 

 n- fgUnh Hkk"kk 

3. Who said "Political Science begins and ends with the state"? 

 a. Garner 

 b. R.A. Dhal 

 c. Harold Laski 

 d. T.H. Green 

 fdlus dgk fd ^jktuhfr foKku jkT; ds lkFk izkjEHk vkSj vUr gksrk gS*\ 

 v- xkuZj 

 c- vkj- ,- <+ky 

 l- gsjkYMh ykLdh 

 n- Vh-,p- xzhu 

4. Who is considered the 'father of Political Science'? 

 a. Socrates 

 b. Plato 

 c. Aristotle 

 d. Macheavelli 

 jktuhfr foKku ds ^firk* dkSu ekus tkrs gSa\ 

 v- lqdjkr 

 c- IysVks 
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 l- vjLrw 

 n- eSD;kosyh 

5. Who wrote the book 'Politics' which is regarded as the great master piece of 

political thought? 

 a. Gettel 

 b. Kautilya 

 c. Plato 

 d. Aristotle 

 ^ikfyfVDl* iqLrd dks fdlus fy[kk gS] ftls jktuhfrd fopkjksa dh ,d egku d`fr 

ekuk tkrk gS\ 

 v- xSVsy 

 c- dkSfVY; 

 l- IysVks 

 n- vjLrw 

6. Who said that 'man is  by nature a political animal'? 

 a. Socrates 

 b. Plato 

 c. Aristotle 

 d. None of the above 

 ^euq"; izd`fr ls gh jktuhfrd i'kq gSA* ;g dFku fdlus dgk gS\ 

 v- lqdjkr 

 c- IysVks 

 l- vjLrw 

 n- mijksDr ls dksbZ ugha 

7. What was the nature of Politics before twentieth century? 

 a. Scientific 

 b. Empirical 

 c. Objective 

 d. Traditional 

 chloha 'krkCnh ls igys jktuhfr foKku dh izd`fr dSlh Fkh\ 

 v- oSKkfud 

 c- vkuqHkkfod 

 l- oLrqfu"B 

 n- ijEijkxr 

8- What is meaning of Greek word 'Polis'? 

 a. State village 

 b. City - state 

 c. Town-state 

 d. Nation- state 

 xzhd Hkk"kk ds 'kCn ^iksfyl* dk D;k vFkZ gS\ 

 v- xk¡o&jkT; 

 c- uxj&jkT; 

 l- 'kgj&jkT; 

 n- jk"Vª&jkT; 

9. Who said that 'Politics is authoritative allocation of values'? 
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 a. Robert Dahal 

 b. Talcott Parson 

 c. David Easton 

 d. Graham Wallace 

 ^jktuhfr ewY;ksa dk vkf/kdkfjd vkoaVu gS* ;g dFku fdldk gS\ 

 v- jkcVZ Mkgy 

 c- VkydV ikjlu 

 l- MsfoM bZLVu 

 n- xzkge oSysl 

10. Who said that 'Political Science is the master science'? 

 a. Pythagoras 

 b. Epicurus 

 c. Plato 

 d. Aristotle 

 fdlus jktuhfr foKku dks ^ekLVj lkb±l* dgk gS\ 

 v- ikbFkkxksjl 

 c- ,ihD;wjl 

 l- IysVks 

 n- vjLrw 

11. How can „politics‟ be defined? 

 a. The art of government 

 b. As public affair / activity / process 

 c. as power and distribution 

 d. All of these 

 „jktuhfr‟ dks fdl rjg ls ifjHkkf"kr fd;k tk ldrk gS\ 

 v- 'kklu dh dyk ds :i esa 

 c- lkoZtfud ekeys @xfrfof/k @izfØ;k ds :i esa 

 l- 'kfDr vkSj foHkktu ds :i esa  

 n- mijksDr lHkh 

12. Which among the following place does Aristotle belong? 

 a. Greece 

 b. Sparta 

 c. Athness 

 d. Macedonia 

 vjLrw fdl LFkku ls tqM+s gq, gSa\ 

 v- xzhl 

 c- LikVkZ 

 l- ,FksUl 

 n- eSlsMksfu;k 

13. What is the name of Aristotle's masterpiece? 

 a. Prince 

 b. Politics 

 c. Republic 

 d. Laws 

 vjLrw dh egku d`fr dk D;k uke gS\ 
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 v- fizUl 

 c- ikWfyfVDl 

 l- fjifCyd 

 n- ykWt 

14. Which type of activity „politics‟ is? 

 a. Social activity 

 b. Economic activity 

 c. Political activity 

 d. All of these 

 „jktuhfr‟ fdl izdkj dh xfrfof/k gS\ 

 v- lkekftd xfrfof/k 

 c- vkfFkZd xfrfof/k 

 l- jktuhfrd xfrfof/k 

 n- mijksDr lHkh 

15. Who said that „Political Science is not a science but an Art‟? 

 a. Schumpeter 

 b. Lasswell 

 c. Garner 

 d. Maitland 

 ^jktuhfr foKku foKku ugha] dyk gS‟ & ;g dFku fdlus dgk gS\ 

 v- 'kqEihVj 

 c- ykloSy 

 l- xkuZj 

 n- eSVySUM 

16. Which institutions does come under the scope of „Political Science‟? 

 a. State 

 b. Government 

 c. Pressure group 

 d. All of these 

 „jktuhfr foKku‟ ds {ks= ds vUrxZr dkSu ls laLFkku gS\ 

 v- jkT; 

 c- ljdkj 

 l- nckc lewg 

 n- mi;qZDr lHkh 

17. Which has led towards scientific basis of 'Political Science'? 

 a. Behaviouralism 

 b. Traditionalism 

 c. Post Behaviouralism 

 d. None of these 

 jktuhfr foKku dks ^^oSKkfud vk/kkj** dh vksj fdlus izo`r fd;k\ 

 v- O;ogkjokn 

 c- ijEijkokn 

 l- mÙkj&O;ogkjokn 

 n- blesa ls dksbZ ugha 

18. What is central point of study of Traditional Political Thought? 
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 a. State and Government 

 b. Government 

 c. Nation-state 

 d. All of these 

 ^ijEijkxr jktuhfr fopkj* ds vè;;u dk dsUæ fcUnq D;k gS\ 

 v- jkT; 

 c- ljdkj 

 l- jk"Vª&jkT; 

 n- mijksDr lHkh 

19. Which does not come under the scope of political science? 

 a. Political Party 

 b. Pressure group 

 c. government 

 d. Poetry 

 jktuhfr foKku ds {ks= ds vUrxZr D;k ugha gS\ 

 v- jktuhfrd ny 

 c- nckc lewg 

 l- ljdkj 

 n- dfork 

20. What is feature of „scientific‟ study? 

 a. Systematic 

 b. Empirical 

 c. Objective 

 d. All of these 

 oSKkfud vè;;u dh D;k fo'ks"krk gS\ 

 v- Øeo) 

 c- vkuqHkkfod 

 l- oLrqfu"B 

 n- mijksDr lHkh 

21. Which among the following is part of Empirical study of politics? 

 a. Voting behaviour 

 b. Right to vote 

 c. Right to elect 

 d. None of these 

 fuEufyf[kr esa ls jktuhfr ds iz;ksxfl) vè;;u dk Hkkx dkSu lk gS\ 

 v- ernku O;ogkj 

 c- ernku dk vf/kdkj 

 l- pquko yM+us dk vf/kdkj 

 n- mi;qZDr esa ls dksbZ ugha 

22. Which is the central focus of traditional approach? 

 a. value 

 b. morality 

 c. tradition 

 d. All of these 

 ^ijEijkxr* mikxe fdl ij dsfUær gS\ 
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 v- ewY; 

 c- uSfrdrk 

 l- ijEijk 

 n- lHkh ij 

23. Who is exponent of Modern Approach to study Political Science? 

 a. Plato 

 b. Arisotle 

 c. Cicero 

 d. David Easton 

 jktuhfr foKku ds vè;;u ds vk/kqfud mikxe ds iz.ksrk dkSu gS\ 

 v- IysVks 

 c- vjLrq 

 l- flljks 

 n- MsfoM bZLVu 

24. Which one of following is not part of Traditional approach? 

 a. Historical studies 

 b. Legal studies 

 c. Institutional studies 

 d. Behavioural studies 

 fuEufyf[kr esa ls dkSu lk ijEijkxr mikxe dk Hkkx ugha gS\ 

 v- ,sfrgkfld vè;;u 

 c- oS/kkfud vè;;u 

 l- laLFkkxr vè;;u 

 n- O;ogkfjd vè;;u 

25. What was the approach to study political science before behaviouralism? 

 a. Historical 

 b. Legal  

 c. Institutional 

 d. All of these 

 O;ogkjokn dh ØkfUr ds igys jktuhfr foKku ds vè;;u dk mikxe D;k Fkk\ 

 v- ,sfrgkfld 

 c- oS/kkfud 

 l- laLFkkRed 

 n- mijksDr lHkh 

26. Which is the „modern approach‟ to study Political Science? 

 a. Behavioural Approach 

 b. Input - Outpur Analysis 

 c. Structural- functional Analysis 

 d. All of these 

 jktuhfr foKku ds vè;;u dk „vk/kqfud mikxe‟ D;k gS\ 

 v- O;ogkjkRed vkxe 

 c- vkxe&fuxe fo'ys"k.k 

 l- lajpukRed & dk;kZRed fo'ys"k.k 

 n- mijksDr lHkh 

27. What is not the main focus of traditional approach? 
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 a. Tradition 

 b. Objective 

 c. Moral 

 d. Ideas 

 ijijkoknh mikxe dk eq[; dsUæ D;k ugha gS\ 

 v- ijEijk 

 c- oLrqfu"Brk 

 l- uSfrdrk 

 n- fopkj 

28. What is central idea of Modern approach? 

 a. Scientific study 

 b. Historical study 

 c. Philosophical study 

 d. None of these 

 vk/kqfud mikxe dk dsfUæ; fopkj D;k gS\ 

 v- oSKkfud vè;;u 

 c- ,sfrgkfld vè;;u 

 l- nk'kZfud vè;;u 

 n- mijksDr esa ls dksbZ ugha 

29. Which among the following is traditional approach to study Political Science? 

 a. System - Approach 

 b. Power Approach 

 c. Structural Functional Approach 

 d. Institutional Studies 

 fuEufyf[kr esa ls dkSu lk ,d jktuhfr foKku ds vè;;u dk ijkEijkxr mikxe 

gS\ 

 v- O;oLFkk mikxe 

 c- 'kfDr mikxe 

 l- lajpukRed&izdk;kZRed mikxe 

 n- laLFkkxr mikxe 

30. What is focus of philosophical approach? 

 a. History 

 b. Institution 

 c. Concept & Ideas 

 d. Constitution 

 nk'kZfud mikxe ds dsUæ esa D;k gS\ 

 v- bfrgkl 

 c- laLFkk,¡ 

 l- vo/kkj.kk ,oa fopkj 

 n- lafo/kku 

31. What is mainly studied through Legal approach? 

 a. Laws 

 b. Constitution 

 c. Judicial Commentaries 

 d. All of these 
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 oS/kkfud mikxe }kjk fdldk eq[;r% vè;;u gksrk gS\ 

 v- dkuwu 

 c- lafo/kku 

 l- U;kf;d fVIif.k;k¡ 

 n- mijkssDr lHkh 

32. How does Historical approach to study Political Science analysis the world? 

 a. Through historical events 

 b. Through present politics 

 c. Through Future analysis 

 d. None of these 

 jktuhfr foKku dk ,sfrgkfld mikxe fo'o ?kVukvksa dk dSls fo'ys"k.k djrk gS\ 

 v- ,sfrgkfld ?kVukvksa }kjk 

 c- orZeku ?kVukvksa }kjk 

 l- Hkfo"; dh ?kVukvksa }kjk 

 n- mijksDr esa ls dksbZ ugha 

33. How many intellectual foundations of Behaviouralism are given by David 

Easton? 

 a. Six 

 b. Seven 

 c. Eight 

 d. Nine 

 MsfoM bZLVu us O;ogkjokn ds fdrus ckSf)d vk/kkj cryk,A 

 v- N% 

 c- lkr 

 l- vkB 

 n- ukS 

34. Which among the following is a modern approach?  

 a. System approach 

 b. Legal approach 

 c. Institutional approach 

 d. Historical approach 

 fuEufyf[kr esa ls dkSu lk ,d vk/kqfud mikxe gS\ 

 v- O;oLFkk mikxe 

 c- oS/kkfud mikxe 

 l- laLFkkRed mikxe 

 n- 'kfDr mikxe 

35. Who is Behaviouralist? 

 a. David Easton 

 b. Robert Dahl 

 c. Charles E Marrium 

 d. All the above 

 O;ogkjoknh dkSu gS\ 

 v- MsfoM bZLVu 

 c- jkcVZ Mkgy 

 l- pkYlZ efj;e 
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 n- mijksDr lHkh 

36. Which one of the following writer did not adopt historical approach for the 

study of politics? 

 a. Paul Janet 

 b. Aristotle 

 c. T.H. Green 

 d. Garner 

 fuEufyf[kr esa ls dkSu lk ys[kd jktuhfr ds vè;;u esa ,sfrgkfld mikxe dk 

iz;ksx ugha djrk gS\ 

 v- iky tsusV 

 c- vjLrw 

 l- Vh-,p- xzhu 

 n- xkuZj 

37. When did the post- behaviouralist approach emerge? 

 a. Mid- Eighties 

 b. Mid-Sixties 

 c. Mid-Seventies 

 d. Mid-Fifties 

 mÙkj&O;ogkjokn mikxe dh 'kq:vkr dc gqbZ\ 

 v- vLlh n'kd ds eè; 

 c- lkB n'kd ds eè; 

 l- lÙkjosa n'kd ds eè; 

 n- ipklosa n'kd ds eè; 

38. Who among the following advocated Post-Behavioural approach for the first 

time? 

 a. Almond 

 b. David Easton 

 c. Sartori 

 d. None of these  

 fuEufyf[kr esa ls fdlus loZizFke mÙkj O;ogkjokn mikxe ij tksj fn;k\ 

 v- vke.M 

 c- MsfoM bZLVu 

 l- lkjVksjh 

 n- buesa ls dksbZ ugha 

39. How do „structural functional approach‟ tries to study the Political system? 

 a. On the basis of their actual operation 

 b. On the basis of their structure 

 c. On the basis of structure as well as their actual operation 

 d. None of these 

 ^lajpukRed&izdk;kZRed mikxe* jktuhfr dk vè;;u dSls djrk gS\ 

 v- okLrfod dk;ks± ds vk/kkj ij 

 c- lajpuk ds vk/kkj ij 

 l- lajpuk rFkk dk;Z nksuksa ds vk/kkj ij 

 n- buesa ls dksbZ ugha 

40. Which among the following did not adopt legal approach for the study of 
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Politics? 

 a. Herbert Finer 

 b. Thomas Hobbes 

 c. A.V. Dicey 

 d. Jean Bodin 

 fuEufyf[kr esa ls fdrus jktuhfr ds vè;;u dk oS/kkfud mikxe ugha viuk;kA 

 v- gjcVZ Qkbuj 

 c- Fkkel gkWCl 

 l- ,-ch- Mk;lh 

 n- thu cksfMu 

41. What is need of Interdisciplinary approach? 

 a. Interconnection among disciplines 

 b. Strong relations among subjects 

 c. Need of Scientific study 

 d. All of these 

 var% fo"k; n`f"Vdks.k dh vko';drk D;ksa gqbZ\  

 v- vuq'kklu ¼Kku dh LorU= 'kk[kk½ esa vUr% lEcU/k 

 c- fo"k;ksa esa xgjk lEcU/k 

 l- oSKkfud vè;;u dh vko';drk 

 n- mijksDr lHkh 

42. How many element does state has? 

 a. 6 

 b. 7 

 c. 4 

 d. 3 

 jkT; ds fdrus rRo gSa\ 

 v- 6 

 c- 7 

 l- 4 

 n- 3 

43. What is not an element of state? 

 a. Sovereighnty 

 b. Population 

 c. Territory 

 d. Legislature 

 buesa ls dkSu lk ,d jkT; dk rRo ugha gS\ 

 v- lEizHkqrk 

 c- tula[;k 

 l- Hkw&Hkkx 

 n- fo/kkf;dk 

44. Which among the following is element of state? 

 a. Government 

 b. Legislature 

 c. Executive 

 d. Judiciary 
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 fuEukafdr esa ls dkSu jkT; dk rRo gS\ 

 v- ljdkj 

 c- fo/kkf;dk 

 l- dk;Zikfydk 

 n- U;k;ikfydk 

45. What are main elements of state? 

 a. Sovereighnty 

 b. Government 

 c. Fixed Territory 

 d. All of these 

 jkT; ds rRo izeq[k D;k gS\ 

 v- lEizHkqrk 

 c- ljdkj 

 l- fuf'pr Hkw&Hkkx 

 n- buesa ls lHkh 

46. How is „soverignty‟ defined? 

 a. Supreme power 

 b. Limited power 

 c. External power 

 d. Internal power 

 „lEizHkqrk‟ dks dSls ifjHkkf"kr fd;k tk ldrk gS\ 

 v- loksZPp 'kfDr 

 c- lhfer 'kfDr 

 l- ckg~; 'kfDr 

 n- vkUrfjd 'kfDr 

47. What is size of Greek state? 

 a. Small state 

 b. Big state 

 c. Very big state 

 d. Mini state 

 xzhd jkT; dk vkdkj dSlk Fkk\ 

 v- NksVk jkT; 

 c- cM+k jkT; 

 l- cgqr cM+k jkT; 

 n- cgqr NksVk 

48. What is present state called? 

 a. Greek-state 

 b. State 

 c. Nation 

 d. Nation - state 

 oÙkZeku jkT; dks D;k dgrs gSa\ 

 v- xzhd jkT; 

 c- jkT; 

 l- jk"Vª 

 n- jk"Vª&jkT; 
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49. Who is main actor in International Politics? 

 a. World Institution 

 b. UNO 

 c. Nation state 

 d. Regional organisation 

 vUrjkZ"Vªh; jktuhfr esa izeq[k vfHkdrkZ dkSu gS\ 

 v- fo'o laLFkk,a 

 c- ;w-,u-vks- 

 l- jk"Vª jkT; 

 n- {ks=h; laLFkk,a 

50. Which organ of government has sovereignty in Britain? 

 a. Parliament 

 b. Executive 

 c. Judiciary 

 d. Constitution 

 fczVsu esa ljdkj ds fdl vax dh lEizHkqrk gS\ 

 v- fo/kkf;dk 

 c- dk;Zikfydk 

 l- U;k;ikfydk 

 n- lafo/kku 

51. What is nature of Indian state presently? 

 a. Police state 

 b. Minimal state 

 c. Welfare state 

 d. Totalitarian state 

 orZeku Hkkjrh; jkT; dk Lo:i dSlk gS\ 

 v- iqfyl jkT; 

 c- lhfer jkT; 

 l- dY;k.kdkjh jkT; 

 n- fujadq'k jkT; 

52. Which institution has Sovereignty? 

 a. State 

 b. Village 

 c. Town 

 d. Nation-state 

 lEizHkqÙkk fdlds ikl gS\ 

 v- jkT;  

 c- xk¡o 

 l- Vkmu 

 n- jk"Vª&jkT; 

53. Who has given the concept of „Leviathan‟ state? 

 a. Hobbes 

 b. Locke 

 c. Rousseau 

 d. Laski 
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 fdlus ysfo;kFku jkT; dh vo/kkj.kk nh\ 

 v- gkWcl 

 c- ykWd 

 l- :lks 

 n- ykLdh 

54. Which among the following is unique feature of state? 

 a. Supreme Power 

 b. Ligitimacy 

 c. both a and b 

 d. None of these 

 jkT; dh fof'k"V fo'ks"krk D;k gS\ 

 v- loksZPp 'kfDr 

 c- oS/kkfudrk 

 l- v vkSj c nksuksa 

 n- buesa ls dksbZ ugha 

55. What is difference between state and government? 

 a. State is abstract, Government is concrete 

 b. State is concrete, Government is abstract 

 c. State is legal, Government is illegal 

 d. None of these 

 jkT; vkSj ljdkj ds eè; izeq[k vUrj D;k gS\ 

 v- jkT; vewrZ gS] ljdkj ewrZ gS 

 c- jkT; ewrZ gS] ljdkj vewrZ gS 

 l- jkT; oS/kkfud gS] ljdkjk voS/kkfud gS 

 n- buesa ls dksbZ ugha 

56. Which kind of organisation the state is? 

 a. Social organisation 

 b. Political organisation 

 c. Economic organisation 

 d. Moral organisation 

 jkT; fdl izdkj dk laxBu gS\ 

 v- lkekftd laxBu 

 c- jktuSfrd laxBu 

 l- vkfFkZd laxBu 

 n- uSfrd laxBu 

57. Which among, the following language, the word 'state' is derived 

 a. Latin language 

 b. German language 

 c. English language 

 d. None of these 

 jkT; 'kCn dh mRifÙk fdl Hkk"kk ls gqbZ gS\ 

 v- ySfVu Hkk"kk 

 c- teZu Hkk"kk 

 l- vaxszth Hkk"kk 

 n- buesa ls dksbZ ugha 
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58. Which institution has „sovereignty‟? 

 a. state 

 b. community 

 c. society 

 d. Religious Institution 

 fdl laLFkk ds ikl „lEizHkqrk‟ gS\ 

 v- jkT; 

 c- leqnk; 

 l- lekt 

 n- /kkfeZd laLFkk,a 

59. Who had played central role in popularizing the use of word 'state'? 

 a. Aristotle 

 b. Machiavelli 

 c. Hobbes 

 d. Locke 

 ^jkT;* 'kCn dks dsUæh; Hkwfedk ds 'kCn ds :i esa izfl) djus okyk dkSu Fkk\ 

 v- vjLrw 

 c- eSD;koyh 

 l- gkWCl 

 n- ykWd 

60. What is nature of American State presently? 

 a. Liberal 

 b. Social 

 c. Welfare 

 d. Neo-Liberal 

 oÙkZeku Hkkjrh; jkT; dh izd`fr dSlh gS\ 

 v- mnkj 

 c- lkekftd 

 l- dY;k.kdkjh 

 n- uo&mnkjoknh 

61. What is function of Police state? 

 a. Maintenance of Law and Order 

 b. Provide education to its citizen 

 c. Provide health services to its citizen 

 d. Provide housing facilities to its 

 iqfyl jkT; dk D;k dk;Z gS\ 

 v- dkuwu rFkk O;oLFkk cuk;s j[kuk 

 c- ukxfjdksa dks f'k{kk iznku djokuk 

 l- ukxfjdksa dks LokLF; lsok,a iznku djokuk 

 n- ukxfjdksa dks vkokl iznku djokuk 

62. What is function of welfare state? 

 a. To facilitate education 

 b. To facilitate health service 

 c. To facilitate housing 

 d. All of these 
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 dY;k.kdkjh jkT; dk dk;Z D;k gS\ 

 v- f'k{kk dh lqfo/kk iznku djokuk 

 c- LoLF; lqfo/kk iznku djokuk 

 l- vkokl lqfo/kk iznku djokuk 

 n- mijksDr lHkh 

63. What is nature of Modern state? 

 a. Narrow 

 b. Comprehensive 

 c. Welfaristic 

 d. both b and c 

 vk/kqfud jkT; dh izd̀fr dSlh gS\ 

 v- ladqfpr 

 c- O;kid 

 l- dY;k.kdkjh 

 n- c vkSj l nksuksa 

64. Who defines states as 'necessary evil'? 

 a. Classical liberal 

 b. Socialist 

 c. Anarchist 

 d. Idealist 

 jkT; dks vko';d cqjkbZ fdlus ifjHkkf"kr fd;k\ 

 v- ijEijkxr mnkjokfn;ksa 

 c- lektokfn;ksa 

 l- vjktdrkoknh 

 n- vkn'kZokfn;ksa 

65. What is core concept of „Liberalism‟? 

 a. Equality 

 b. Liberty 

 c. Justice 

 d. Morality 

 mnkjokn dh dsUæh; vo/kkj.kk D;k gS\ 

 v- lekurk 

 c- LorU=rk 

 l- U;k; 

 n- uSfrdrk 

66. Whose liberty do 'liberal' thinkers talk about? 

 a. Society 

 b. Nation-state 

 c. Individual 

 d. Community 

 mnkjoknh fpUrd fdldh LorU=rk dh ckr djrs gSa\ 

 v- lekt 

 c- jk"Vª&jkT; 

 l- O;fDr 

 n- leqnk; 
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67. What is main feature of neo-liberal state? 

 a. Nightwatchman state 

 b. Comprehensive 

 c. Welfarlistic 

 d. Developmental 

 uo&mnkjoknh jkT; dh D;k izeq[k fo'ks"krk gS\ 

 v- jkf= izgjh jkT; 

 c- O;kidrk 

 l- dY;k.kdkjh 

 n- fodklkRed 

68. Who is exponent of Negative Liberalism? 

 a. J.S. Mill 

 b. Adam Smith 

 c. Laski 

 d. Locke 

 udkjkRed mnkjokn ds vxz.kh dkSu gS\ 

 v- ts- ,l- fey 

 c- ,Me fLeFk 

 l- ykLdh 

 n- ykWd 

69. What is function of state according to classical liberals? 

 a. Minimal  

 b. Welfare 

 c. Developmental 

 d. All of these 

 ijEijkoknh mnkjokfn;ka ds vuqlkj jkT; dh izd`fr dSlh gS\ 

 v- U;wure jkT; 

 c- dY;k.kdkjh jkT; 

 l- fodklkRed jkT; 

 n-  mijksDr lHkh 

70. What is function of state according to Modern Liberals? 

 a. Minimal 

 b. Welfarlistic 

 c. Development 

 d. both (b) and (c) 

 vk/kqfud mnkjokfn;ksa ds vuqlkj jkT; dk D;k dk;Z gS\ 

 v- U;wure 

 c- dY;k.kdkjh 

 l- fodklkRed 

 n- ¼c½ vkSj ¼l½ nksuksa 

71. What is nature of Welfare state? 

 a. Narrow 

 b. Limited 

 c. Parochial 

 d. Comprehensive 
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 dY;k.kdkjh jkT; dh izd`fr D;k gS\ 

 v- ladqfpr 

 c- lhfer 

 l- ladh.kZ 

 n- O;kid 

72. What is primary aim of government in welfaristic state? 

 a. well being of people 

 b. well being of state 

 c. well being of government 

 d. None of these 

 dY;k.kdkjh jkT; esa ljdkj dk izeq[k y{; D;k gS\ 

 v- yksxksa dh HkykbZ 

 c- jkT; dh HkykbZ 

 l- ljdkj dh HkykbZ 

 n- buesa ls dksbZ ugha 

73. The welfare starte is essentially a synthesis of - 

 a. Liberalism and Idealism 

 b. Liberalism and socialim 

 c. Liberalism and moralism 

 d. Classical and Modern Liberalism 

 dY;k.kdkjh jkT; eq[;r% la'ys"k.k gS& 

 v- mnkjokn vkSj vkn'kZokn 

 c- mnkjokn vkSj lektokn 

 l- mnkjokn vkSj ekDlZokn 

 n- ijEijkoknh vkSj vk/kqfud mnkjokn 

74. What is core concept of socialism? 

 a. Liberty 

 b. Morality 

 c. Equality 

 d. None of these 

 lektokn dh ewy vo/kkj.kk D;k gS\ 

 v- LorU=rk 

 c- uSfrdrk 

 l- lekurk 

 n- buesa ls dksbZ ugha 

75. What is aim of communist state? 

 a. State less society 

 b. Classless society 

 c. Egalitarian society 

 d. All of these 

 lkE;oknh jkT; dk mís'; D;k gS\ 

 v- jkT;foghu lekt 

 c- oxZfoghu lekt 

 l- lerkewyd lekt 

 n- mijksDr lHkh 
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76. Who among the following is a socialist thinker? 

 a. J.S. Mill 

 b. Laski 

 c. Karl Marx 

 d. Hobbes 

 fuEufyf[kr esa ls dkSu lektoknh fpUrd gS\ 

 v- ts-,l- fey 

 c- ykLdh 

 l- dkyZ ekDlZ 

 n- gkCl 

77. Who among the following is not a socialist thinker? 

 a. Karl Marx 

 b. Fredruck Engel 

 c. Robert Owen 

 d. Harold laski 

 fuEufyf[kr esa ls dkSu ,d lektoknh fpUrd ugha gS\ 

 v- dkyZ ekDlZ 

 c- ÝsMfjd ,tsaYl 

 l- jkcVZ vkscu 

 n- gjkYM ykLdh 

78. Which system socialism does want to eleminate? 

 a. Capitalism 

 b. Egalitarian society 

 c. Idealism 

 d. Communism 

 lektokn fdl O;oLFkk dks lekIr djuk pkgrk gS\ 

 v- iwathokn 

 c- lerkewyd lekt 

 l- vkn'kZokn 

 n- lkE;okn 

79. In which type of „equality‟ does socialist state believe? 

 a. Political Equality 

 b. Economic Equality 

 c. Legal Equality 

 d. None of these 

 lektoknh jkT; fdl izdkj dh ^lekurk* esa fo'okl j[krk gS\ 

 v- jktuSfrd lekurk  

 c- vkfFkZd lekurk 

 l- oS/kkfud lekurk 

 n- mijksDr esa ls dksbZ ugha 

80. Who does control 'means of production' in socialist state? 

 a. Public sector 

 b. Private sector  

 c. Public-private - patnership 

 d. None of these 
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 lektoknh jkT; esa ^mRiknu ds lk/kuksa* ij dkSu fu;a=.k j[krk gS\ 

 v- lkoZtfud {ks= 

 c- futh {ks= 

 l- lkoZtfud o futh Hkkxhnkjh 

 n- mijksDr esa ls dksbZ ugha 

81. Sovereignty is the feature of which of the following? 

 a. Pressure group 

 b. State 

 c. Political Party 

 d. Interest group 

 lEizHkqrk fuEufyf[kr esa ls fdldh fo'ks"krk gS\ 

 v- ncko lewg 

 c- jkT; 

 l- jktuhfrd ny 

 n- fgr lewg 

82. Which type of concept the sovereignity is? 

 a. Legal 

 b. Political 

 c. Economic 

 d. Social 

 lEizHkqrk fdl izdkj dh vo/kkj.kk gS\ 

 v- oS/kkfud 

 c- jktuSfrd 

 l- vkfFkZd 

 n- lkekftd 

83. Who defined sovereignity as 'the absolute and perpetual of commanding in a 

state? 

 a. Jean Bodin 

  b. Austin 

 c. Hegal 

 d. Hobbes 

 fdlus lEizHkqrk ls ^jkT; ds lEiw.kZ rFkk 'kk'or 'kfDr ds vkns'k ds :i esa ifjHkkf"kr 

fd;k\ 

 v- thu cksnk 

 c- vkfLVu 

 l- ghxsy 

 n- gkcl 

84. Who is the greatest exponent of „monistic theory of Sovereignity‟? 

 a. Bodin 

 b. Hobbes 

 c. Hegel 

 d. Austin 

 „lEizHkqrk dk v}Sr fl)kUr‟ fdlus izfrikfnr fd;k\ 

 v- cksnka 

 c- gkcl 
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 l- ghxsy 

 n- vkfLVu 

85. What is not a main feature of Sovereignity? 

 a. Permanance 

 b. Comprehensive 

 c. Indivisibility 

 d. Diversity 

 lEizHkqrk dh izeq[k fo'ks"krk D;k gS\ 

 v- LFkkf;Ro 

 c- O;kidrk 

 l- vfoHkkT; 

 n- fofo/krk 

86. What is unique feature of Sovereignty? 

 a. Legitimacy 

 b. Political 

 c. Economic 

 d. Moral Power 

 lEizHkqrk dh fof'k"V fo'ks"krk D;k gS\ 

 v- oS/krk 

 c- jktuhfrd 

 l- vkfFkZd 

 n- uSfrd 'kfDr 

87. What is essential feature of sovereignty? 

 a. Absoluteness 

 b. Permanance 

 c. Indivisibility 

 d. All of these 

 lEizHkqrk dh vfuok;Z fo'ks"krk D;k gS\ 

 v- vuU;rk 

 c- LFkkf;Ro 

 l- vfoHkkT;rk 

 n- mi;qZDr lHkh 

88. From which Latin word, the word soverign is derived? 

 a. Supreme 

 b. Superanus 

 c. Super 

 d. None of these 

 ySfVu Hkk"kk ds fdl 'kCn ls ^lksfofju* 'kCn dh mRifÙk gqbZ gS\ 

 v- lqizhe 

 c- lqisjkul 

 l- lqij 

 n- buesa ls dksbZ ugha 

89. How many aspect of soverignty are there? 

 a. External 

 b. Internal 
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 c. both (a) and (b) 

 d. None of these 

 lEizHkqrk ds fdrus vk;ke gS\ 

 v- ckg~; 

 c- vkUrfjd 

 l- nksuksa ¼v½ vkSj ¼c½ 

 n- buesa ls dksbZ 

90. Who has developed monistic theory of sovereignty? 

 a. Bodin 

 b. Laski 

 c. Austin 

 d. Hegel 

 lEizHkqrk dk v}Srokn fl)kUr dks fdlus fodflr fd;k\ 

 v- cksnka 

 c- ykLdh 

 l- vkfLVu 

 n- ghxsy 

91. Who has developed external aspect of sovereignty? 

 a. Hegel 

 b. Grotius 

 c. Hobbes 

 d. None of these 

 lEizHkqrk dk okg~; vk;ke fdlus fodflr fd;k\ 

 v- ghxsy 

 c- xzksfV;l 

 l- gkWcl 

 n- buesa ls dksbZ ugha 

92. Which of the following is an essential characteristic of sovereignty? 

 a. Higher Education 

 b. Civil liberties 

 c. Wealth 

 d. Indivisibility 

 lEizHkqrk ds vfuok;Z fo'ks"krk buesa ls dkSu&lh gS\ 

 v- mPp f'k{kk 

 c- ukxfjd LorU=rk,a 

 l- /ku 

 n- vfoHkkT;rk 

93. Who believed that sovereignty vested in 'general will'? 

 a. Plato 

 bl. Aristotle 

 c. Hobbes 

 d. Rousseau 

 fdldk ;g fo'okl gS fd laizHkqrk ^lkekU; bPNk* esa fufgr gS\ 

 v- IysVks 

 c- vjLrw 
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 l- gkWcl 

 n- :lks 

94. Who is associated with legal theory of sovereignty? 

 a. John Austin 

 b. Lask 

 c. Maciver 

 d. Rousseau 

 laizHkqrk ds oS/kkfud fl)kUr ls dkSu tqM+k gS\ 

 v- tkWu vkfLVu 

 c- ykLdh 

 l- eSdkboj 

 n- jklks 

95. Who has coined the term 'Sovereignty'? 

 a. Jean Bodin 

 b. John Austin  

 c. G.D.H. Cole 

 d. Lask 

 ^lEizHkqrk* 'kCn fdlus [kkstk\ 

 v- thu cksnk 

 c- rtku vkfLVu 

 l- th-Mh-,p- dwys 

 n- ykLdh 

96. Which of the following kind of soverignty is related to the people where public 

is regarded as supreme? 

 a. De-facto 

 b. De-jure 

 c. Popular Sovereignty 

 d. Legal Sovereignity 

 fuEufyf[kr esa ls dkSu lh lEizHkqrk yksxksa dks lcls rkdroj ekurh gS\ 

 v- dkuwuh lEizHkqrk 

 c- okLrfod lEizHkqrk 

 l- yksdfiz; lEizHkqrk 

 n- oS/kkfud lEizHkqrk 

97. Who has firstly propounded the pluralistic theory of sovereignty? 

 a. Laski 

 b. Maciver 

 c. Bodin 

 d. Otto Van Gierpe 

 lEizHkqrk ds cgqyoknh fl)kUr dks loZizFke fdlus izfrikfnr fd;k\ 

 v- ykLdh 

 c- eSdkboj 

 l- osnk 

 n- vksVks okWu fxdsZ 

98. Which one of the following is a basic feature of pluralist concept of sovereign? 

 a. Absoluteness 
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 b. Inalienability 

 c. Divisibility 

 d. Exclusiveness 

 laizHkqrk dh cgqyoknh vo/kkj.kk dh izeq[k fo'ks"krk buesa ls D;k gS\ 

 v- iw.kZrk 

 c- vfoPNs/krk 

 l- foHkkT;rk 

 n- vuU;rk 

99. Who is author of the book 'Grammar of Politics'? 

 a. Rousseau 

 b. Locke 

 c. Harald laski 

 d. Lasswell 

 ^xzkej vkWQ ikWfyfVDl* uked iqLrd dh jpuk fdlus dh\ 

 v- :lks 

 c- ykWd 

 l- gSjkYM ykLdh 

 n- ykloSy 

100. Who has  criticised „monistic notionof sovereignty‟? 

 a. Hobbes 

 b. Locke 

 c. Roussean 

 d. Laski 

 „lEizHkqrk dk v}Sroknh fl)kUr‟ dh fdlus vkykspuk dh\ 

 v- gkcl 

 c- ykd 

 l- :lks 

 n- ykLdh 

101. What does Pluralist believe in? 

 a. Legal sovereignty 

 b. Political Sovereignty 

 c. Nominal Souverignty 

 d. Absolute Soverignty 

 cgqyoknh fdlesa fo'okl j[krs gSa\ 

 v- oS/kkfud lEizHkqrk 

 c- jktuSfrd lEizHkqrk 

 l- ukeek=k lEizHkqrk 

 n- iw.kZ lEizHkqrk 

102. What is the main functions of state according to pluralists? 

 a. To promote general welfare of its citizen 

 b. To regulate the activities of various association 

 c. To regulate production distribution of goods 

 d. To provide social security 

 cgqyokfn;ksa ds vuqlkj jkT; dk D;k dk;Z gS\ 

 v- ukxfjd dk lkekU; fgr vkxs c<+kuk 
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 c- fofHkUu la?kksa dh xfrfof/k;ksa dks lapkfyr djuk 

 l- lkekuka dk mRiknu o forj.k dk lapkyu 

 n- lkekftd lqj{kk iznku djokukA 

103. According to Laski, By whom the power of state is limited? 

 a. Custom 

 b. Tradition 

 c. Custom and Tradition 

 d. None of these 

 ykLdh ds vuqlkj] fdlds }kjk jkT; 'kfDr lhfer gksrh gS\ 

 v- izFkk 

 c- ijEijk 

 l- izFkk vkSj ijEijk 

 n- buesa ls dksbZ ugha 

104. What is at the centre of pluralism? 

 a. Atomic life 

 b. Political life 

 c. Economic life 

 d. Group life 

 cgqyokn ds dsUæ esa D;k gS\ 

 v- O;fDroknh thou 

 c- jktuhfrd thou 

 l- vkfFkZd thou 

 n- lkewfgd thou 

105. Whom primacy the monistic concept of sovereignty does uphold? 

 a. Positive law 

 b. Customary law 

 c. Morality and Ethics 

 d. Community's sense of right 

 lEizHkqrk dk v}Sriw.kZ fl)kUr fdl ij cy nsrk gS\ 

 v- ;FkkFkZewyd fu;e 

 c- ijEijkoknh dkuwu 

 l- uSfrdrk rFkk uhfr 

 n- vf/kdkjksa dh leqnkf;d le{k 

106. Who among the following stands for decentralization of governmental 

authority? 

 a. Idealism 

 b. Pluralism 

 c. Anarchism 

 d. Socialism 

 fuEufyf[kr esa ls dkSu lÙkk ds fodsUæhdj.k ij cy nsrk gS\ 

 v- vkn'kZokn 

 c- cgqyokn 

 l- vjktdrkokn 

 n- lektokn 

107. Who is the author of the book 'The modern state (1926)'? 
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 a. Harold Laski 

 b. Schumpeter 

 c. Lasswell 

 d. Robert M. Maciver 

 ^nh ekMZu LVsV ¼1926½* uked iqLrd fdlus fy[kh gS\ 

 v- gsjkWYM ykLdh 

 c- 'kqEihVj 

 l- ykloSy 

 n- jkcVZ ,e- eSdkboj 

108. How many aspects of sovereignty are there? 

 a. 2 

 b. 3 

 c. 4 

 d. 1 

 lEizHkqrk ds fdrus vk;ke gS\ 

 v- 2 

 c- 3 

 l- 4 

 n- 1 

109. Where does legal sovereignity reside? 

 a. Supreme law 

 b. Custom 

 c. Culture 

 d. Tradition 

 oS/kkfud lEizHkqrk fdlesa fufgr gS\ 

 v- loksZPp dkuwu 

 c- izFkk 

 l- laLd`fr 

 n- ijEijk 

110. Where does Political  Sovereignty reside? 

 a. Will of Minister 

 b. Will of state 

 c. Will of government 

 d. Will of people 

 jktuSfrd lEizHkqrk fdlesa fufgr gS\ 

 v- eaf=;ksa dh bPNk ls 

 c- jkT; dh bPNk ls 

 l- ljdkj dh bPNk ls 

 n- yksxksa dh bPNk ls 

111. Who is the author of the book 'The web of government' 1947? 

 a. Laski 

 b. Maclver 

 c. Wallace 

 d. Easton 

 ^nh osc vkWQ xojesUV] 1947 uked iqLrd ds ys[kd dkSu gS\ 
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 v- ykLdh 

 c- eSdkboj 

 l- cSysl 

 n- bZLVu 

112. According to Pluralists, one of the important limitations on sovereignty is - 

 a. Written Constitution 

 b. Independent Judiciary 

 c. Political Parties 

 d. International Law 

 cgqyokfn;ksa ds vuqlkj lEizHkqrk ij lcls cM+h lhek D;k gS\ 

 v- fyf[kr lafo/kku 

 c- Lora= U;k;ikfydk 

 l- jktuhfrd ny 

 n- vUrjkZ"Vªh; dkuwu 

113. What is not a source of law? 

 a. Custom 

 b. Religion 

 c. Judicial Commentaries 

 d. Assumption 

 dkuwwu dk D;k L=ksr ugha gS\ 

 v- jhfr&fjokt 

 c- /keZ 

 l- U;kf;d fVIif.k;k¡ 

 n- ekU;rk 

114. What is source of Law? 

 a. Constitution 

 b. Educational Institutions 

 c. Non-Governmental Organiations 

 d. None of these 

 dkuwu dk izeq[k L=ksr D;k gS\ 

 v- lafo/kku 

 c- 'kS{kf.kd laLFkk,a 

 l- xSj&ljdkjh laLFkk,a 

 n- buesa ls dksbZ ugha 

115. Who is the author of the book 'Introduction to the study of the law of the 

constitution (1885). 

 a. Bodin 

 b. Lasswell 

 c. Tocquevilli 

 d. Diecy 

 ;g fdrkc fdlus fy[kh & ^bUVªksMD'ku Vw n LVMh vkWiQ fn ykWt vkQ n 

dUlVhV~;w'ku* 

 v- cksnka 

 c- ykloSy 

 l- VkD;oyh 
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 n- Mk;lh 

116. Which institution does inforce law. 

 a. State 

 b. Society 

 c. Community 

 d. Association 

 dkuwu dkSu lh laLFkk fØ;kfUor djrh gS\ 

 v- jkT; 

 c- lekt 

 l- leqnk; 

 n- la?k 

117. Who has developed concept of 'Rule of Law'? 

 a. Dicey 

 b. Socrates 

 c. Aristotle 

 d. Bodin 

 ^dkuwu dk 'kklu* dh vo/kkj.kk fdlus fodflr dh gS\ 

 v- Mk;lh 

 c- lqdjkr 

 l- vjLRw 

 n- cksfMu 

118. What is protected through rule of law? 

 a. Liberty 

 b. Equality 

 c. Justice 

 d. All of these 

 ^dkuwu dk 'kklu* fdlds }kjk lajf{kr gksrk gS\ 

 v- Lora=rk 

 c- lekurk 

 l- U;k; 

 n- mijksDr lHkh 

119. What is main thurst of rule of law? 

 a. Government shoudl be arbitary 

 b. Government should not be arbitary 

 c. Neither a nor b 

 d. None of above 

 dkuwu dk 'kklu dk tksj fdl ij gS\ 

 v- ljdkj euekuh gksuh pkfg, 

 c- ljdkjh euekuh ugha gksuh pkfg, 

 l- v vkSj c nksuksa ugha 

 n- mijksDr esa ls dksbZ ugha 

120. What does „Rule of law‟ stand for? 

 a. Equality before the law 

 b. Equality before the state 

 c. Equality before the Government 
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 d. Equality before the people 

 dkuwu dk 'kklu dk D;k vfHkizk; gS\ 

 v- dkuwu ds le{k lekurk 

 c- jkT; ds le{k lekurk 

 l- ljdkj ds le{k lekurk 

 n- turk ds le{k lekurk 

121. What do you mean by „Jurisprudence‟? 

 a. knowledge of sciencer 

 b. knowledge of society 

 c. knowledge of law 

 d. knowledge of country 

 „fof/k'kkL=‟ ls vki D;k le>rs gSSa\ 

 v- ^foKku* dk Kku 

 c- ^lekt* dk Kku 

 l- ^fof/k* dk Kku 

 n- ^ns'k* dk Kku 

122. What are two types of laws? 

 a. Prescriptive 

  b. Descriptive 

 c. both a and b 

 d. only a 

 dkuwu ds dkSu ls nks izdkj gSa\ 

 v- funs'kkRed 

 c- o.kZukRed 

 l- v vkSj c nksuksa 

 n- flQZ v 

123. What is nature of natural law? 

 a. Normative 

 b. Empirical 

 c. Scientific 

 d. None of these 

 izkd`frd dkuwuksa dh izd`fr dSlh gS\ 

 v- fu;ked 

 c- iz;ksxfl) 

 l- oSKkfud 

 n- buesa ls dksbZ ugha 

124. Which one of the following is not the meaning of 'Rule of law' according to 

A.V. Dicey? 

 a. Supremacy of law 

 b. Equality before law 

 c. Pre-dominance of legal spirit 

 d. Wide discretionary power 

 Mk;lh ds vuqlkj buesa ls dkSu lk ,d ^fof/k dk 'kklu* dk vFkZ ugha gS\ 

 v- dkuwuh loksZPprk 

 c- dkuwu ds led{k lekurk 
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 l- oS/kkfud lksap dh izHkqÙkk 

 n- o`gr Lofoosdh; 'kfDr 

125. Which legal system was critized by Diecy? 

 a. English legal system 

 b. French legal system 

 c. Australian legal system 

 d. American legal system 

 Mk;lh ds }kjk dkSu lh O;oLFkk dh vkykspuk dh x;h\ 

 v- vaxzsth oS/kkfud O;oLFkk 

 c- Ýkalhlh oS/kkfud O;oLFkk 

 l- vkLVªsfy;u oS/kkfud O;oLFkk 

 n- vesfjdu oS/kkfud O;oLFkk 

126. In which country, the „rule of law‟ first adopted? 

 a. America 

 b. Britain 

 c. Switzerland 

 d. India 

 fdl ns'k us loZizFke ^fof/k dk 'kklu* viuk;k\ 

 v- vesfjdk 

 c- fczVsu 

 l- LohVtjyS.M 

 n- Hkkjr 

127. Which „organ of government‟ does make law in democracy? 

 a. Executive 

 b. Legislature 

 c. Judiciary 

 d. Political Parties 

 yksdra= esa dkuwu ljdkj ds fdl vax }kjk cuk;k tkrk gS\ 

 v- dk;Zikfydk 

 c- fo/kkf;dk 

 l- U;k;ikfydk 

 n- jktuhfrd ny 

128. Which one of the following is essential for enjoyment of „liberty‟ in society? 

 a. Equality 

 b. Justice 

 c. State 

 d. Community 

 LorU=rk ds miHkksx ds fy, fdldk lekt esa gksuk vko';d gS\ 

 v- lekurk 

 c- U;k; 

 l- jkT; 

 n- leqnk; 

129. Which two concepts are interrelated? 

 a. Liberty and Liberalism 

 b. Equality and Egalitarianism 
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 c. Liberty and Equality 

 d. Ideas and Idealism 

 dkSu lh nks vo/kkj.kk,a vkil ls tqM+h gqbZ gS\ 

 v- LorU=rk vkSj mnkjokn 

 c- lekurk vkSj lerkokn 

 l- Lora=rk vkSj lekurk 

 n- vkn'kZ vkSj vkn'kZokn 

130. What is complementary to freedom? 

 a. Morality 

 b. Honesty 

 c. Sincerely 

 d. Equality 

 LorU=rk dk iwjd D;k gS\ 

 v- uSfrdrk 

 c- bZekunkjh 

 l- le>nkjh 

 n- lekurk 

131. What is basic principle of Politics according to Earnest Barker? 

 a. Liberty 

 b. Equality 

 c. Justice 

 d. State 

 vusZLV ckdZj ds vuqlkj jktuhfr dk ewy fl)kUr D;k gS\ 

 v- LorU=rk 

 c- lekurk 

 l- U;k; 

 n- jkT; 

132. Who is author of the book 'On Liberty'? 

 a. Laski 

 b. Aristotle 

 c. J.S. Mill 

 d. James Mill 

 ^vku fycVhZ* iqLrd ds ys[kd dkSu gS\ 

 v- ykLdh 

 c- vjLrw 

 l- ts-,l- fey 

 n- tsEl fey 

133. How many aspects of liberty are there? 

 a. 2  

 b. 3 

 c. 4 

 d. 1 

 LorU=rk ds fdrus vk;ke gS\ 

 v- 2 

 c- 3 
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 l- 4 

 n- 1 

134. What do you mean by Negative Liberty? 

 a. Absence of Restraints 

 b, Imposition of Restraints 

 c. both a and b 

 d. None of these 

 udkjkRed Lora=rk ls vki D;k le>rs gSa\ 

 v- izfrcU/kksa dk vHkko 

 c- izfrcU/kksa dk gksuk 

 l- nksuksa v vkSj c 

 n- buesa ls dksbZ ugha 

135. What do we mean by Positive liberty? 

 a. Imposition of Reasonable Restraints 

 b. Absence of Restraints 

 c. both a and b 

 d. None of these 

 ldkjkRed Lora=rk ls vki D;k le>rs gSa\ 

 v- mfpr izfrcU/kksa dk gksuk 

 c- izfrcU/kksa dk vHkko 

 l- nksuksa v vkSj c 

 n- buesa ls dksbZ ugha 

136. What is focus of economic liberty? 

 a. Education 

 b. Philosophy 

 c. Employment 

 d. None of these 

 vkfFkZd LorU=rk ds dsUæ esa D;k gS\ 

 v- f'k{kk 

 c- n'kZu 

 l- jkstxkj 

 n-  buesa ls dksbZ ugha 

137. Which one of the following is not a political liberty? 

 a. Freedom to vote 

 b. Freedom to elect 

 c. Freedom to critize government policies 

 d. Freedom to settle down 

 fuEufyf[kr esa ls dkSu lk ,d jktuhfrd Lora=rk ugha gS\ 

 v- ernku dh LorU=rk 

 c- pquko yM+us dh LorU=rk 

 l- ljdkj dh vkykspuk djus dh LorU=rk 
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 n- clus dh LorU=rk 

138. Which one of the following is advocate of proportionaate equality? 

 a. Plato 

 b. Marx 

 c. Aristotle 

 d. Engels 

 fuEufyf[kr esa ls dkSu vkuqikfrd lekurk dks ekurs gSa\ 

 v- IysVks 

 c- ekDlZ 

 l- vjLrw 

 n- ,tsaYl 

139. Which of the following statement is correct? 

 a. Liberty and Equality are opposed to each other 

 b. Liberty and laws are opposed to each other 

 c. Libertuy and Equality are complementary to each other 

 d. Liberty and justice are contrary 

 fuEufyf[kr esa ls dkSu lk okD; lgh gS\ 

 v- LorU=rk vkSj lekurk ,d&nwljs ds fojks/kh gS 

 c- LorU=rk vkSj dkuwu ,d nwljs ds fojks/kh gSa 

 l- LorU=rk vkSj lekurk ,d nwljs ds iwjd gSA 

 n- LorU=rk vkSj U;k; ,d nwljs ds fojks/kh gSA 

140. What type of liberty a man enjoys as a member of civil society? 

 a. Natural liberty 

 b. Civil Liberty 

 c. Political Liberty 

 d. Economic Liberty 

 ukxfjd lekt esa ,d euq"; fdl izdkj dh LorU=rk dk miHkksx djrk gS\ 

 v- izkd`frd Lora=rk 

 c- ukxfjd Lora=rk  

 l- jktuhfrd Lora=rk 

 n- vkfFkZd Lora=rk 

141. What is called the liberty, which people enjoy for earning their bread? 

 a. Economic liberty 

 b. Political liberty 

 c. Civil liberty 

 d. Natural liberty 

 ml LorU=rk dks D;k dgrs gSa] ftls euq"; vius jkstxkj vtZu ds fy, miHkksx dh 

tkrh gS\ 

 v- vkfFkZd LorU=rk 

 c-- jktuhfrd LorU=rk 

 l- ukxfjd LorU=rk 



33 
 

 n- izkd`frd LorU=rk 

142. Which of the following thinkers describe to the positive concept of liberty? 

 a. Marx 

 b. Darwin 

 c. Spencer 

 d. T.H. Green 

 fuEufyf[kr esa ls dkSu lk fopkjd ldkjkRed LorU=rk dk o.kZu djrk gS\ 

 v- ekDlZ 

 c-- Mkjfou 

 l- lisalj 

 n- Vh-,p-xzhu 

 

143. Which among the below is concerned with the notion of equal treatment with 

equals and unequal treatment with unequals? 

 a. Proportional Equality 

 b. Equality before the law 

 c. Natural equality of men 

 d. Equality of opportunities 

 fuEufyf[kr esa ls dkSu lk okD; leku ds leku O;ogkj rFkk vlekU; ds lkFk 

vlekU; O;ogkj dh ckr djrk gS\ 

 v- vkuqikfrd lekurk 

 c- dkuwu ds le{k lekurk 

 l- euq"; dh izkd̀frd lekurk 

 n- voljksa dh lekurk 

144. Which among the following is the greatest support of Individual liberty? 

 a. Rousseau 

 b. Montesquieu 

 c. J.S. Mill 

 d. Green 

 O;SfDrd LorU=rk ij fdlus fuEufyf[kr esa ls lcls T;knk tksj fn;k\ 

 v- :lks 

 c- ekWUVsLD;w 

 l- ts-,l- fey 

 n- xzhu 

145. Who said that „Rights are those conditions of social life without which no man 

can seek to be himself at his best. 

 a. Laski 

 b. Mill 

 c. Hegel 

 d. Aristotle 

 ;g fdlus dgk& vf/kdkj thou dh og 'kÙks± gSa] ftlds }kjk euq"; vius viuk 
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loksZÙke fodkl ugha dj ldrk gSA 

 v- ykLdh 

 c- fey 

 l- ghxsy 

 n- vjLrw 

146. Who is propoundes of theory of Natural rights? 

 a. John Locke 

 b. Hegel 

 c. Mussolini 

 d. None of the above 

 vf/kdkjksa ds izkd`frd fl)kUr dk izfriknd dkSu gS\ 

 v- tkWu ykd 

 c- ghxsy 

 l- eqlksfyuh 

 n- mijksDr esa dksbZ ugha 

147. What is Rights according to Laski? 

 a. Condition 

 b. Adjustment 

 c. Intelligence 

 d. Emotion 

 ykLdh ds vuqlkj vf/kdkj D;k gS\ 

 v- 'kÙks± 

 c- lek;kstu 

 l- cqfg 

 n- laosx 

148. What is role of state in Laski's theory of Rights? 

 a. Minimal 

 b. Welfaristic 

 c. Developmental 

 d. Both (b) and (c) 

 ykLdh ds vf/kdkj fl)kUr ds vuqlkj jkT; dh Hkwfedk D;k gS\ 

 v- U;wure 

 c- dY;k.kdkjh 

 l- fodklkRed 

 n- nksuksa ¼c½ vkSj ¼l½ 

149. What is essential for development of human personality according to Laski? 

 a. Rights 

 b. State 

 c. Community 

 d. Religious Institution 

 ykLdh ds vuqlkj euq"; ds O;fDrRo ds fodkl ds fy, D;k vko';d gS\ 
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 v- vf/kdkj 

 c- jkT; 

 l- leqnk; 

 n- /kkfeZd laLFkk,a 

150. Who cannot do his best without rights? 

 a. Individual 

 b. Society 

 c. Community 

 d. State 

 dkSu ^vf/kdkjksa* ds fcuk viuk loZJs"B fodkl ugha dj ldrk\ 

 v- O;fDr 

 c- lekt 

 l- leqnk; 

 n- jkT; 

151. Which aspect of 'life' Laski's definition of Rights deals with? 

 a. Political life 

 b. Economic life 

 c. Social life 

 d. None of these 

 ykLdh ds }kjk nh xbZ vf/kdkjksa dh ifjHkk"kk ^thou* ds fdl vk;ke ls tqM+h gS\ 

 v- jktuhfrd thou 

 c- vkfFkZd thou 

 l- lkekftd thou 

 n- buesa ls dksbZ ugha 

152. Which institution does legalise „right‟? 

 a. Society 

 b. State 

 c. Community 

 d. Church 

 dkSu lh laLFkk vf/kdkjksa dks oS/krk iznku djrh gS\ 

 v- lekt 

 c- jkT; 

 l- leqnk; 

 n- ppZ 

153. Which among the following organ of government is responsible for protection 

of rights? 

 a. Legislature 

 b. Judiciary 

 c. Executive 

 d. Political Party 
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 fuEufyf[kr esa ls dkSu&lk ljdkj dk vax vf/kdkjksa ds laj{k.k ds fy, ftEesnkj gS\ 

 v- fo/kkf;dk 

 c- U;k;ikfydk 

 l- dk;Zikfydk 

 n- jktuhfrd ny 

154. How are „rights‟ and „duties‟ related to each other according to Laski? 

 a. Complementary 

 b. Contradictory 

 c. both (a) and (b) 

 d. None of these 

 ykLdh ds vuqlkj vf/kdkj vkSj dÙkZO; ,d&nwljs ls dSls tqM+s gq, gSa\ 

 v- iwjd 

 c- fojks/kh 

 l- v vkSj c nksuksa 

 n- buesa ls dksbZ ugha 

155. Which type of rights are pre-necessary for enjoyment of „political rights‟? 

 a. Civil Rights 

 b. Cultural Rights 

 c. Economic Rights 

 d. All of these 

 ^jktuSfrd vf/kdkjksa* ds miHkksx ds fy, fdl izdkj ds vf/kdkjksa dh iw.kZ vko';drk 

gS\ 

 v- ukxfjd vf/kdkj 

 c- lkaLd`frd vf/kdkj 

 l- vkfFkZd vf/kdkj 

 n- mijksDr lHkh 

156. In which year, The book 'Grammar of Politics' was published? 

 a. 1925 

 b. 1926 

 c. 1927 

 d. 1924 

 fdl o"kZ esa ^xzkej vkWQ ikfyfVDl* iqLrd izdkf'kr gbZ Fkh\ 

 v- 1925 

 c- 1926 

 l- 1927 

 n- 1924 

157. What is the nature of Fundamental Rights in India? 

 a. Justiciable 

 b. Non-Justiciable 

 c. both (a) and (b) 

 d. None of these 
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 ewy vf/kdkjksa dh Hkkjr esa izd`fr D;k gS\ 

 v- U;k;ksfpr 

 c- xSj&U;k;ksfpr 

 l- nksuksa v vkSj c 

 n- mijksDr esa ls dksbZ ugha 

158. Who is called the "father of Liberalism"? 

 a. Paul Janet 

 b. Hitler 

 c. Harold Laski 

 d. John Locke 

 ^mnkjokn dk firk* fdls dgk tkrk gS\ 

 v- ikWy tsusV 

 c- fgVyj 

 l- gjkYM ykLdh 

 n- tku ykWd 

159. What is the keynote of „Liberalim‟? 

 a. Equality 

 b. Liberty 

 c. Justice 

 d. None of these 

 mnkjokn dk dsUæ fcUnq D;k gS\ 

 v- lekurk 

 c- LorU=rk 

 l- U;k; 

 n- buesa ls dksbZ ugha 

160. Who among the following held the view that liberty and equality are opposed 

to each other? 

 a. J.S. Mill 

 b. Lord Hewart 

 c. De Tocqueville 

 d. Lord Action 

 fuEufyf[kr esa ls dkSu ^LorU=rk vkSj lekurk dks ,d nwljs dk fojks/kh* ekurk gS\ 

 v- ts-,l- fey 

 c- ykMZ gsokVZ 

 l- nh VkD;koyh 

 n- ykMZ ,D'ku 

161. What is the meaning of the word „Alienation‟? 

 a. To feel isolated 

 b. To feel united 

 c. To feel powerful 

 d. All of these 
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 ^vyxko* dk D;k vFkZ gS\ 

 v- vdsykiu eglwl gksuk 

 c- ,drk eglwl gksuk 

 l- 'kfDr'kkyh eglwl gksuk 

 n- mi;qZDr lHkh 

162. „Alination‟ signifies - 

 a. Powerfulness 

 b. Powerlessness 

 c. Pride 

 d. Bravery 

 vyxko --------------- n'kkZrk gSA 

 v- 'kfDr'khyrk 

 c- 'kfDrghurk 

 l- ?keaM 

 n- cgknqjh 

163. Who is the author of the book 'One Dimensional man'? 

 a. Herbert Marcuse 

 b. Robert Dahl 

 c. Talcatt Parson 

 d. Hannah Aredt 

 ^ou MkbesU'kuy eSu* uked iqLrd ds ys[kd dkSu gS\ 

 v- gcZV ekjD;wl 

 c- jkcVZ Mkgy 

 l- VkydV ikjlu 

 n- gUuk vjsUV 

164. When was the book 'One dimensional man' published? 

 a. 1960 

 b. 1962 

 c. 1961 

 d. 1964 

 ^ou MkbesU'kuy eSu* uked iqLrd dc izdkf'kr gqbZ Fkh\ 

 v- 1960 

 c- 1962 

 l- 1961 

 n- 1964 

165. In which of the following society does „alienation‟ prevail? 

 a. Traditional society 

 b. Medieval society 

 c. Greek society 

 d. Modern capitalist society 

 fuEufyf[kr esa ls dkSu ls lekt esa ^vyxko* ik;k tkrk gS\ 
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 v- ijEijkxr lekt 

 c- eè;dkyhu lekt 

 l- xzhd lekt 

 n- vk/kqfud] iw¡thoknh lekt 

166. Which political ideaology has discussed the concept of „Alienation‟ in relation 

to production? 

 a. Liberalism 

 b. Idealism 

 c. Marxism 

 d.  Neo-Liberalism 

 fdl jktuhfrd fopkj/kkjk us vyxko dh vo/kkj.kk dks ^mRiknku* ds lkFk tksM+k gS\ 

 v- mnkjokn 

 c- vkn'kZokn 

 l- ekDlZokn 

 n- uo mnkjokn 

167. What do we mean by 'freedom'? 

 a. Emotion 

 b. Wisdom 

 c. Intimacy 

 d. Liberty 

 ^vktknh* ls vki D;k le>rs gSa\ 

 v- laosx 

 c- cqf) 

 l- ?kfu"Brk 

 n- LorU=rk 

168. Whose autobiography is 'Long walk to Freedom'? 

 a. Nelson Mandela 

 b. Mahatma Gandhi 

 c. Adolf Hitler 

 d. Graham Wallace 

 ^ykx okWd Vw ÝhMe* fdldh vkRedFkk gS\ 

 v- usYlu eaMsyk 

 c- egkRek xk¡/kh 

 l- ,MkYQ fgVyj 

 n- xzkge oSyl 

169. What is the slogan of „French‟ Revolution? 

 a. Liberty, Trust, Love 

 b. Liberty, Equality, Morality 

 c. Liberty, Equality, Fraternity 

 d. Liberty, Justice, Idea 

 ^Ýkalhlh* ØkfUr dk ukjk D;k gS\ 
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 v- LorU=rk] fo'okl] I;kj 

 c- LorU=rk] lekurk] uSfrdrk 

 l- LorU=rk] lekurk] Hkkr`Ro 

 n- LorU=rk] U;k;] fopkj 

170. Which article of Indian consitution deals with 'the safety of life and personal 

liberty'? 

 a. Article 21 

 b. Article 22 

 c. Article 23 

 d. Article 24 

 Hkkjrh; lafo/kku dk dkSu&lk vuqPNsn ^thou dh lqj{kk vkSj O;fDrxr LorU=rk* dks 

crykrk gS\ 

 v- vuqPNsn 21 

 c- vuqPNsn 22 

 l- vuqPNsn 23 

 n- vuqPNssn 34 

171. Which part of constitution mentioned fundamental Rights? 

 a. Part IV 

 b. Part VI 

 c. Part III 

 d. Part II 

 lafo/kku ds fdl Hkkx esa ewy vf/kdkjksa dks j[kk x;k gS\ 

 v- Hkkx pkSFkk 

 c- Hkkx NBk 

 l- Hkkx rhljk 

 n- Hkkx nwljk 

172. Harold Laski is a _______ thinker. 

a. Social 

b. Community 

 c. Liberal  

d. Idealists 

gjkYM ykLdh ---------------- fopkjd gSA 

v- lkekftd 

c- lkE;oknh 

l- mnkj 

n- vkn”kZoknh 

173. In which „article‟ of Indian constitution is „right against human trafficking‟ 

mentioned? 

a. Article 23 

b. Article 24 

c. Article 21 
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d. Article 22 

Hkkjrh; lafo/kku esa fdl vuqPNsn esa ^ekuoh; rLdjh ds f[kykQ* vf/kdkj fn;k x;k 

gS\ 

v- vuqPNsn 23 

c- vuqPNsn 24 

l- vuqPNsn 21 

n- vuqPNsn 22 

174. Right to education is given under ________. 

 a. Article 21A 

 b. Article 22A 

 c. Article 21B 

 d. Article 21C 

 C f'k{kk dk vf/kdkj -------------- esa fn;k x;k gSA 

 v- vuqPNsn 21 v 

 c- vuqPNsn 22 v 

 l- vuqPNsn 21 c 

 n- vuqPNsn 21 l 

175. How many freedoms are guaranted in „Article 19‟? 

 a. Six 

 b. Seven 

 c. Four 

 d. Five 

 ^vuqPNsn 19* esa fdrus izdkj dh LorU=rk nh x;h gS\ 

 v- N% 

 c- lkr 

 l- pkj 

 n- ik¡p 

176. Right to property is a ________ right. 

 a. Civil 

 b. Economic 

 c. Political 

 d. legal 

 lEifÙk dk vf/kdkj --------------- vf/kdkj gSA 

 v- ukxfjd 

 c- vkfFkZd 

 l- jktuSfrd 

 n- oS/kkfud 

177. In which form of government, the rulers are elected by „people‟? 

 a. Monarchy 

 b. Democracy 

 c. Oligarchy 
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 d. None of these 

 ljdkj ds fdl :i esa 'kkld dks ^turk* ds }kjk pquk tkrk gS\ 

 v- jktra= 

 c- yksdra= 

 l- dqyhura= 

 n- buesa ls dksbZ ugha 

178. The word „democracy‟ comes from the greek work _____. 

 a. Deme 

 b. Demakratia 

 c. Demos 

 d. Kartia 

 ^yksdra=* 'kCn dh mRifÙk xzhd Hkk"kk ds 'kCn ----------- ls gqbZ gS\ 

 v- Mses 

 c- MseksØsf'k;k 

 l- Mseksl 

 n- Øsf'k;k 

179. Which of the following is a democratic country? 

 a. Norway 

 b. India 

 c. USA 

 d. All of these 

 fuEufyf[kr esa ls dkSu lk ns'k yksdrkfU=d gS\ 

 v- ukosZ 

 c- Hkkjr 

 l- vesfjdk 

 n- mijksDr lHkh 

180. How many „organs of government‟ are there in democratic system? 

 a. two 

 b. three 

 c. one 

 d. four 

 yksdrkfU=d 'kklu O;oLFkk* esa ljdkj ds fdrus vax gksrs gSa\ 

 v- nks 

 c- rhu 

 l- ,d 

 n- pkj 

181. Who has given this definition - Democracy is a government of the people, by 

the people and for the people. 

 a. Abraham Lincoln 

 b. Winston Churchill 

 c. George Washington 
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 d. John Sheart Mill 

 ;g ifjHkk"kk fdlus nh & yksdra= turk dk] turk ds fy, vkSj turk }kjk 'kklu 

gS\ 

 v- vczkge fyadu 

 c- foLVu pfpZy 

 l- tktZ okf'kaxVu 

 n- tku LVqvVZ fey  

182. Which is the largest democratic country in the world? 

 a. USA 

 b. China 

 c. India 

 d. Britain 

 nqfu;k esa lcls cM+k ^yksdrkaf=d ns'k* dkSu lk gS\ 

 v- vesfjdk 

 c- phu 

 l- Hkkjr 

 n- fczVsu 

183. What is 'Voting age' in India? 

 a. 18 

 b. 19 

 c. 21 

 d. 17 

 Hkkjr esa ^ernku mez* D;k gS\ 

 v- 18 

 c- 19 

 l- 21 

 n- 17 

184. What are the two types of democracy in world? 

 a. Direct 

 b. Indirect 

 c. both (a) and (b) 

 d. None of these 

 nqfu;k esa nks izdkj ds ^yksdra=* dkSu&dkSu ls gSa\ 

 v- izR;{k 

 c- vizR;{k 

 l- v vkSj c nksuksa 

 n- buesa ls dksbZ ugha 

185. What is the feature of „democratic government? 

 a. Accountability 

 b. Legitimacy 

 c. Free and fair election 
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 d. All of these 

 yksdrkaf=d ljdkj dh D;k fo'ks"krk gS\ 

 v- mÙkjnkf;Ro ¼tckcnsgh½ 

 c- oS/krk 

 l- LorU= vkSj mfpr pquko 

 n- mijksDr lHkh 

186. Which among the following is not a feature of modern democracy? 

 a. Fair election 

 b. Universal Franchise 

 c. Constitution 

 d. limited franchise 

 fuEukafdr esa ls dkSu vk/kqfud yksdra= dh fo'ks"krk ugha gS\ 

 v- mfpr pquko 

 c- lkoZHkkSfed ernku 

 l- lafo/kku 

 n- lhfer ernku 

187. Where was 'direct democracy' famous? 

 a. Greece 

 b. America 

 c. Britain 

 d. Canada 

 izR;{k yksdra= dgk¡ izfl) Fkk\ 

 v- xzhl 

 c- vesfjdk 

 l- fczVsu 

 n- dukMk 

188. What are required factors for smooth functioning of democracy? 

 a. Free and fair election 

 b. Free press 

 c. Independant Judicary 

 d. All of these 

 vPNs ls yksdra= dks pyus ds fy, dkSu lk t:jh vax gS\ 

 v- eqDr o mfpr pquko  

 c- eqDr izsl 

 l- Lora= U;k;ikfydk 

 n- mijksDr lHkh 

189. What are common problems in South Asian democracies? 

 a. Poverty 

 b. Illiteracy 

 c. Lack of Econiomic growth 

 d. All of these 



45 
 

 nf{k.k ,f'k;kbZ yksdrU=ksa esa lkekU; leL;k,a D;k gS\ 

 v- xjhch 

 c- fuj{kjrk 

 l- vkfFkZd o`f) dh deh 

 n- mijksDr lHkh 

190. What is present form of Indian democracy? 

 a. Direct Democracy 

 b. Representative Democracy 

 c. Monarchy 

 d. None of these 

 Hkkjrh; yksdra= dk orZeku Lo:i D;k gS\ 

 v- izR;{k yksdra= 

 c- izfrfuf/k yksdra= 

 l- jktra= 

 n- mijksDr esa ls dksbZ ugha 

191. Who is real head in Indian Poltics? 

 a. President 

 b. Prime Minister 

 c. Governor 

 d. Chief Minister 

 Hkkjrh; jktuhfr esa okLrfod izeq[k dkSu gS\ 

 v- jk"Vªifr 

 c- iz/kkuea=h 

 l- jkT;iky 

 n- eq[;ea=h 

192. What is the goal of Political Party? 

 a. to attain power 

  b. to leave power 

 c. to pressurize government 

 d. All of these 

 jktuhfrd ny dk D;k mís'; gksrk gS\ 

 v- lÙkk dh izkfIr 

 c- lÙkk dks NksM+uk 

 l- ljdkj ij nckc Mkyuk 

 n- mijksDr lHkh 

193. Which political party does believe in Marxism? 

 a. CPI 

 b. NCP 

 c. BJP 

 d. Congress 

 dkSu lk jktuhfrd ny ekDlZokn esa fo'okl j[krk gS\ 
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 v- lh-ih-vkbZ- 

 c- ,u-lh-ih- 

 l- ch-ts-ih- 

 n- dkaxzsl 

194. Pick the country where 'two-party system' exists? 

 a. USA 

 b. India 

 c. China 

 d. Russia 

 f}nyh; O;oLFkk okys ns'k dks vafdr djsaA 

 v- vesfjdk 

 c- Hkkjr 

 l- phu 

 n- :l 

195. Which country has adopted „multiparty system‟? 

 a. USA 

 b. China 

 c. Russia 

 d. India 

 fdl ns'k us cgqnyh; O;oLFkk dks viuk;k gS\ 

 v- vesfjdk 

 c- phu 

 l- :l 

 n- Hkkjr 

196. Which among of following is considered the best form of government? 

 a. Democracy 

 b. Dictatorship 

 c. Maonarchy 

 d. Oligarchy  

 fuEukafdr esa ls fdldks ljdkj dk loksZÙke Lo:i ekuk x;k gS\ 

 v- yksdra= 

 c- vf/kuk;dokn 

 l- jktra= 

 n- dqyhura= 

197. When was Communist Party of India formed? 

 a. 1925 

 b. 1926 

 c. 1927 

 d. 1924 

 dE;qfuLV ikVhZ vkWQ bafM;k dk xBu dc gqvk\ 

 v- 1925 
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 c- 1926 

 l- 1927 

 n- 1924 

198. When was „Indian National Congress‟ formed? 

 a. 1886 

 b. 1887 

 c. 1883 

 d. 1885 

 Hkkjrh; jk"Vªh; dkaxzsl dh LFkkiuk dc gqbZ\ 

 v- 1886 

 c- 1887 

 l- 1883 

 n- 1885 

199. Who among the following does recognise political party in India? 

 a. Niti Aayog 

 b. Legislature 

 c. Election Commission of India 

 d. None of these 

 fuEufyf[kr esa ls dkSu ^jktuSfrd ny* dh igpku djrk gS\ 

 v- uhfr vk;ksx 

 c- fo/kkf;dk 

 l- Hkkjrh; pquko vk;ksx 

 n- mijksDr esa ls dksbZ ugha 

200. Which one of the following country has adopted „single party system‟? 

 a. China 

 b. India 

 c. Britain 

 d. Canada 

 fuEukafdr esa ls fdlus ,dy nyh; O;oLFkk dks viuk;k gS\ 

 v- phu 

 c- Hkkjr 

 l- fczVsu 

 n- dukMk 

201. When was BJP founded? 

 a. 1980 

 b. 1990 

 c. 1970 

 d. 1950 

 „Hkkjrh; turk ikVhZ* dh LFkkiuk dc gqbZ\ 

 v- 1980 

 c- 1990 
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 l- 1970 

 n- 1950 

202. Which of these is not a good option for a democratic state? 

 a. One party system 

 b. Partyless democracy 

 c. both (a) and (b) 

 d. None of these 

 yksdrkfU=d jkT; ds fy, dkSu&lk ,d vPNk fodYi ugha gS\ 

 v- ,dy nyh; O;oLFkk 

 c- nyfoghu 'kklu 

 l- nksuksa ^v* vkSj ^c* 

 n- mijksDr esa ls dksbZ ugha 

203. A 'group of people' who contest election for attainment of power is called ___ 

 a. Political Party 

 b. Pressure Group 

 c. Interest Group 

 d. All of these 

 ^yksxksa dk lewg* tks lÙkk gkfly djus ds mís'; ls fuokZpu yM+rk gS] mls ----------------- 

dgrs gSa\ 

 v- jktuhfrd ny 

 c- ncko lewg 

 l- fgr lewg 

 n- mijksDr lHkh 

204. Which among the following government cannot exist without party? 

 a. Democracy 

 b. Military Rule 

 c. Monarchy 

 d. Oligarchy 

 fuEufyf[kr eas ls dkSu lh ljdkj fcuk ^ny* ds ugha vfLrRo esa vkrh gS\ 

 v- yksdra= 

 c- lSfud 'kklu 

 l- jktra= 

 n- dqyhura= 

205. In which state does CPI (M) enjoy strong position? 

 a. Rajasthan 

 b. Bihar 

 c. Uttar Pradesh 

 d. West Bengal 

 fdl jkT; esa lh-ih-vkbZ ¼,e½ dh fLFkfr etcwr jgh gS\ 

 v- jktLFkku 

 c- fcgkj 
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 l- mÙkj izns'k 

 n- if'pe caxky 

206. What is the function of Political Party? 

 a. Representation 

 b. Interest Articulation 

 c. Mobilization 

 d. All of these 

 jktuhfrd ny dk dk;Z D;k gS\ 

 v- izfrfuf/kRo 

 c- fgr lewghdj.k 

 l- ykecUnh 

 n- mijksDr lHkh 

207. Which types of organization pressure group are? 

 a. Political organization 

 b. Economic organization 

 c. Moral organization 

 d. Organisation of Universal character 

 ncko lewg fdl izdkj dk laxBu gS\ 

 v- jktuSfrd laxBu 

 c- vkfFkZd laxBu 

 l- uSfrd laxBu 

 n- lkoZHkkSfed pfj= dk laxBu 

208. Which one of the following is known as pressure group? 

 a. Trade union 

 b. Caste group 

 c. Tribal group 

 d. All of the above 

 fuEufyf[kr esa ls dkSu ncko lewg ds :i esa tkuk tkrk gS\ 

 v- O;kikj la?k 

 c- tkfr lewg 

 l- tutkrh; lewg 

 n- mijksDr lHkh 

209. Which one of the following is the primary function of „Pressure group‟? 

 a. to criticise the government 

 b. to contest the election 

 c. to formulate policy 

 d. to pressurise government 

 fuEukafdr esa ls ^ncko lewg* dk izeq[k dk;Z D;k gS\ 

 v- ljdkj dh vkykspuk djuk 

 c- pquko yM+uk 

 l- uhfr;ksa dk fuekZ.k djuk 
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 n- ljdkj ij ncko Mkyuk 

210. How „pressure group‟ is district from a „political party‟? 

 a. Propogate policy 

 b. Contest Election 

 c. Criticise government 

 d. None of the above 

 ^jktuhfr ny* dSls ^ncko lewg* ls fHkUu gS\ 

 v- uhfr izpkj 

 c- pquko yM+uk 

 l- ljdkj dh vkykspuk 

 n- buesa ls dksbZ ugha 

211. What is FICCI? 

 a. Political Party 

 b. Pressure group 

 c. Economic Organization 

 d. both (b) and (c) 

 ^fQDdh* D;k gS\ 

 v- jktuhfrd ny 

 c- ncko lewg 

 l- vkfFkZd laxBu 

 n- nksuksa c vkSj l 

212. What is full form of FICCI? 

 a. Federation of Indian Chair of Commerce 

 b. Federation of Indian Chambers of Commerce and Indstruy 

 c. both (a) and (b) 

 d. None of these 

 fQDdh dk iwjk uke D;k gS\ 

 v- QsMjs'ku vkWQ bafM;u ps;j vkWQ dkWelZ 

 c- QsMsjs'ku vkWQ bafM;u pSEclZ ,.M dkelZ vkSj baMLVªht 

 l- nksuksa v vkSj c 

 n- mijksDr esa ls dksbZ ugha 

213. Lobbing is related with _________ 

 a. Political Party 

 b. Higher Education 

 c. Pressure group 

 d. All of these 

 ykWfcax ------------------ ls tqM+h gqbZ gSA 

 v- jktuhfrd ikVhZ 

 c- mPp f'k{kk 

 l- ncko lewg 

 n- mijksDr lHkh 
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214. Upon whom does „pressure group‟ try to exert power to promote the interests 

of their members? 

 a. Executive 

 b. Judiciary 

 c. Legislative 

 d. All the above 

 ncko lewg vius lnL;ksa ds fgrksa dks c<+kus ds fy, fdl izdkj izHkko Mkyrs gSa\ 

 v- dk;Zikfydk 

 c- U;k;ikfydk 

 l- fo/kkf;dk 

 n- mijksDr 

215. Which of the following is not a method used by the pressure group for 

achieving its objectives? 

 a. It finances political parties 

 b. It organises demonstrations. 

 c. It clearly aligns with a political pressure 

 d. It tries to influence policy makers. 

 ncko lewg vius mís'; dh iwfrZ ds fy, fdl fof/k dk iz;ksx ugha djrs gSa\ 

 v- ;g jktuhfrd ny dks foÙk iznku djrs gSaA 

 c- ;g izn'kZu djokrs gSaA  

 l- bls jktuhfrd ny ds lkFk fey tkuk 

 n- ;g uhfr fuekZrkvksa dks izHkkfor djrs gSaA 

216. Which one of the following was the first country-wide pressure group of the 

organized Indian working class? 

 a. All India Trade Union Congress 

 b. Indian National Trade Union Congress 

 c. United Trade Union Congress 

 d. Hindu Mazdoor Sabha 

 fuEufyf[kr esa ls dkSu lk ns'kO;kih igyk laxfBr ^Hkkjrh; etnwj la?k* gS\ 

 v- vf[ky Hkkjrh; etnwj la?k dk¡xszl 

 c- jk"Vªh; etnwj dkaxszl 

 l- ;wukbVsM VsªM ;wfu;u dkaxzsl 

 n- fgUnw etnwj lHkk 

217. What are different 'types' of Pressure groups? 

 a. Institutional 

 b. Associational 

 c. Non-Associational 

 d. All of these 

 ncko lewg ds fofHkUu izdkj D;k gS\ 

 v- laLFkkxr 

 c- lac)  
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 l- xSj&lac) 

 n- mijksDr lHkh 

218. What is full form of ABVP? 

 a. Akhil Bharatiya Vidyarthi Parishad 

 b. Akhil Bharat Vishwa Parishad 

 c. both (a) and (b) 

 d. None of these 

 ,-ch-oh-ih- dk iwjk uke D;k gS\ 

 v- vf[ky Hkkjrh; fo|kFkhZ ifj"kn 

 c- vf[ky Hkkjr fo'o ifj"kn 

 l- nksuks v vkSj c 

 n- buesa ls dksbZ ugha 

219. ABVP is a __________ organization. 

 a. Student's 

 b. Teacher's 

 c. Worker's 

 d. Former's 

 ,-ch-oh-ih- ,d ----------- laxBu gSA 

 v- fo|kfFkZ;ksa dk 

 c- f'k{kdksa dk 

 l- etnwjksa dk 

 n- fdlkuksa dk 

220. When was AIKS formed? 

 a. 1934 

 b. 1932 

 c. 1936 

 d. 1931 

 ,-vkb-ds-,l- dk xBu dc gqvk\ 

 v- 1934 

 c- 1932 

 l- 1936 

 n- 1931 

221. By whom AIKS is related? 

 a. Farmer 

 b. Labour 

 c. Teacher 

 d. Doctor 

 ,-vkbZ-ds-,l- fdlls lEcfU/kr laLFkk gS\ 

 v- fdlku 

 c- etnwj 

 l- f'k{kd 
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 n- MkDVj 

222. „Narmada Bachao Andolan‟ is related with __________. 

 a. Environment 

 b. State 

 c. Society 

 d. None of the abover 

 ^ueZnk cpkvks vkUnksyu* lEcfU/kr gS& 

 v- i;kZoj.k 

 c- jkT; 

 l- lekt 

 n- mijksDr esa ls dksbZ ugha 

223. Who firstly began 'system' approach in Political Science? 

 a. Shumpeter 

 b. Robert Dahl 

 c. David Easton 

 d. All of these 

 jktuhfr foKku esa ^O;oLFkk mikxe* dh 'kq:vkr fdlus dh\ 

 v- 'kqEihVj 

 c- Mkgy 

 l- MsfoV bZLVu 

 n- mijksDr lHkh 

224. In which century does 'system approach‟ begin in Political Science'? 

 a. Twentieth 

 b. Nineteenth 

 c. Eighteenth 

 d. Sixteenth 

 jktuhfr foKku esa O;oLFkk mikxe dh 'kq:vkr fdl ^'krkCnh* esa gqbZ\ 

 v- chloha 

 c- mUuhloha 

 l- vBkjgoha 

 n- lksygoha 

225. Which country did initiate the „system approach‟ to study policial science? 

 a. USA 

 b. UK 

 c. China 

 d. India 

 fdl ns'k us jktuhfr foKku ds vè;;u ds fy, ^O;oLFkk mikxe* dh 'kq:vkr dh\ 

 v- vesfjdk 

 c- ;w-ds- 

 l- phu 

 n- Hkkjr 
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226. Which element does provide „uniqueness‟ to political system? 

 a. Civil Society 

 b. Size 

 c. Population 

 d. Legitimacy 

 dkSu lk rRo jktuhfr O;oLFkk dks ^fof'k"Vrk* iznku djrk gS\ 

 v- ukxfjd lekt 

 c- vkdkj 

 l- tula[;k 

 n- oS/krk 

227. In which form 'input' enters in political system? 

 a. Demand 

 b. Support 

 c. Laws 

 d. both (a) and (b) 

 jktuSfrd O;oLFkk esa ^vkxr* fdl :i esa izos'k djrk gS\ 

 v- ek¡x 

 c- lg;ksx 

 l- fu;e 

 n- v vkSj c nksuksa 

228. According to Almond, the function of family is ________ 

 a. Political Socialization 

 b. Growth 

 c. Employment 

 d. None of these 

 vke.M ds vuqlkj] ifjokj dk dk;Z ------------------------ gSA 

 v- jktuhfrd lekthdj.k 

 c- o`f) 

 l- jkstxkj 

 n- mijksDr esa ls dksbZ ugha 

229. What are 'policies' in political system? 

 a. Input 

 b. Output 

 c. Feedback 

 d. Communication 

 jktuSfrd O;oLFkk esa ^uhfr;k¡* D;k gS\ 

 v- vkxr 

 c- fuxZr 

 l- izfriqf"V 

 n- lapkj 

230. How many types of demand are categorized by David Easton? 
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 a. Four 

 b. Five 

 c. Six 

 d. Two 

 MssfoM bZLVu }kjk Hkkxksa dks fdrus Hkkxksa esa oxhZd`r fd;k x;k gS\ 

 v- pkj 

 c- ik¡p 

 l- N% 

 n- nks 

231. Which one of the following is „output‟ function? 

 a. Rule-making 

 b. Rule-application 

 c. Rule-Adjudication 

 d. All of these 

 fuEufyf[kr esa ls fuxZr&dk;Z dkSu lk gS\ 

 v- dkuwu cukuk 

 c- dkuwu fØ;kUo;u 

 l- dkuwu laj{k.k 

 n- mijksDr lHkh 

232. In which branch of Political Science „structural functional analysis‟ is used 

widely? 

 a. Internationl Relation 

 b. Comparatiove Politics 

 c. Political Theory 

 d. None of these 

 lajpukRed&izdk;kZRed mikxe jktuhfr foKku dh fdl 'kk[kk esa o`gr~ :i ls 

iz;ksx gksrk gS\ 

 v- vUrjjk"Vªh; lEcU/k 

 c- rqyukRed jktuhfr 

 l- jktuhfrd fpUru 

 n- buesa ls dksbZ ugha 

233. When did the political system approach get fame in studying Political Science? 

 a. After WW I 

 b. After WW II 

 c. After Cold war 

 d. None of these 

 jktuhfr fpUru ds vè;;u esa jktuhfr O;oLFkk mikxe dks dc izflf) feyhA 

 v- izFke fo'o;q) ds i'pkr~ 

 c- f}rh; fo'o;q) ds i'pkr~ 

 l- 'khr ;q) ds i'pkr~ 

 n- mijksDr esa ls dksbZ ughaA 
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234. Where was Karl Marx born? 

 a. France 

 b. Russia 

 c. Germany 

 d. Italy 

 dkyZ ekDlZ dk tUe dgk¡ gqvk Fkk\ 

 v- Ýkal 

 c- :l 

 l- teZuh 

 n- bVyh 

235. What did Marx borrow from Hegel? 

 a. Materialistic philosophy 

 b. Alienation theory 

 c. The idea of stateless society 

 d. Dialectical Method 

 ekDlZ us ghxsy ls D;k fy;k\ 

 v- HkkSfrdoknh n'kZu 

 c- vyxko fl)kUr 

 l- jkT;foghu lekt dk fopkj 

 n- }U}kRed izfof/k 

236. Who is the author of the book 'The Civic Culture' (1963). 

 a. Almond and Syndey Verba 

 b. Almond 

 c. Lucian Pye 

 d. Easton 

 ^nh flfod lewg* ¼1963½ uked iqLrd ds ys[kd dkSu gS\ 

 v- vke.M vkSj flMuh ockZ 

 c- vke.M 

 l- yqfl;u ikbZ 

 n- bZLVu 

237. Who has developed „structural functional approach‟? 

 a. Almond 

 b. Powell 

 c. Almond and Powell 

 d. Syndey Verba 

 lajpukRed izdk;kZRed mikxe dks fdlus fodflr fd;k\ 

 v- vke.M 

 c- ikoSy 

 l- vke.M vkSj ikoSy 

 n- flMuh ockZ 
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238. In which year, structural functional approach was developed by Almond and 

Powell? 

 a. 1965 

 b. 1966 

 c. 1967 

 d. 1968 

 vke.M vkSj ikoSy ds }kjk fdl o"kZ lajpukRed&izdk;kZRed mikxe dks fodflr 

fd;k x;k\ 

 v- 1965 

 c- 1966 

 l- 1967 

 n- 1968 

239. Input-Output analysis is the part of which approach? 

 a. System Approach 

 b. Philosophical Approach 

 c. Historical Approach 

 d. None of these 

 vkxr&fuxZr fo'ys"k.k fdl mikxe dk Hkkx gS\ 

 v- O;oLFkk mikxe 

 c- nk'kZfud mikxe 

 l- ,sfrgkfld mikxe 

 n- buesa ls dksbZ ugha 

240. What is not a function according to Almond? 

 a. Political Socialization 

 b. Political Communication 

 c. Interest Aggregation 

 d. Political Apathy 

 vke.M ds vuqlkj D;k ,d dk;Z ugha gS\ 

 v- jktuhfrd lekthdj.k 

 c- jktuhfrd lapkj 

 l- fgr lewghdj.k 

 n- jktuhfrd mnklhurk 

241. Which approach has pointed defect of Easton's system approach? 

 a. Traditional approach 

 b. Historical Approach 

 c. Communication approach 

 d. Structural-functional Approach 

 fdl mikxe us bZLVu ds O;oLFkk vkxedh dfe;kas dks bafxr fd;k\ 

 v- ijEijkxr mikxe 

 c- ,sfrgkfld mikxe 

 l- lapkj mikxe 
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 n- lajpukRed izdk;kZRed mikxe 

242. Who introduced „Feedbak loop mechanism‟? 

 a. Almond 

 b. Easton 

 c. Powell 

 d. Coleman 

 „izfrfØ;k ik'k ra=* dh 'kq:vkr fdlus dh\ 

 v- vke.M 

 c- bZLVu 

 l- ikoSy 

 n- dksyeSu 

243. Which system has right to use „legitimate physical coercion‟? 

 a. Social system 

 b. Political System 

 c. Economic System 

 d. None of these  

 fdl O;oLFkk ds }kjk ^oS/k 'kkjhfjd n.M* dk vf/kdkj gS\ 

 v- lkekftd O;oLFkk 

 c- jktuSfrd O;oLFkk 

 l- vkfFkZd O;oLFkk 

 n- buesa ls dksbZ ugha 

244. How many „input functions‟ are given by Almond?  

 a. 5 

 b. 2 

 c. 3 

 d. 4 

 vke.M ds }kjk fdrus ^vkxr&dk;Z* gSa\ 

 v- 5 

 c- 2 

 l- 3 

 n- 4 

245. How many „output-functions‟ are there according to Almond? 

 a. 3 

 b. 2 

 c. 1 

 d. 4 

 vke.M ds vuqlkj fuxZr&dk;Z fdrus gSa\ 

 v- 3 

 c- 2 

 l- 1 

 n- 4 
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246. When was Lok Janshakti Party (LJP) formed? 

a. 28 November 2001 

b. 28 November 2000 

c. 29 November 2002 

d. 30 November 2003 

yksd tu”kfDr ikVhZ dk xBu dc gqvk\ 

v- 28 uoEcj 2001 

c- 28 uoEcj 2000 

l- 29 uoEcj 2002 

n- 30 uoEcj 2003 

247. Who has advocated the idea of „partyless democracy‟? 

a. Mahatma Gandhi 

b. Ram Manohar Lohia 

c. Jay Prakash Narayan 

d. None of these 

fdlus ^nyfoghu yksdrU=* ij tksj fn;k Fkk 

v- egkRek xk¡/kh 

c- jke euksgj yksfg;k 

l- t; izdk”k ukjk;.k 

n- mijksDr esa ls dksbZ ugha 

248. When was Gandhi‟s autobiography firstly published? 

 a. 1928 

 b. 1927 

 c. 1926 

 d. 1925 

xk¡/kh th dh vkRedFkk dc igyh ckj izdkf”kr gqbZ Fkh\ 

v- 1928 

c- 1927 

l- 1926 

n- 1925 

249. Who has given the concept of „General will‟? 

a. Gandhi 

b. Mill 

c. Locke 

d. Rousseau 

^lkekU; bPNk* dk fl)kUr fdlus  fn;k\ 

v- xk¡/kh 

c- fey 

l- ykWd 

n- :lks 

250. According to Easton, Political System consists ______ 
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 a. Input 

 b. Output 

 c. Feedback 

 d. All of these 

 bZLVu ds vuqlkj & jktuhfrd O;oLFkk ______gSaA 

 v- vkxr 

 c- fuxZr 

 l- izfriqf"V 

 n- mijksDr lHkh 

251. What are input-functions? 

 a. Political Socialization and Recruitment 

 b. Interest Articulation 

 c. Interest Aggregation 

 d. All of these 

 vkxr&dk;Z D;k gS\ 

 v- jktuSfrd lekthdj.k vkSj HkÙkhZ 

 c- fgr ,d=hdj.k 

 l- fgr lewghdj.k 

 n- mijksDr lHkh 

252. What is structure for rule making? 

 a. Legislature 

 b. Executive 

 c. University 

 d. Parlour 

 dkuwu fuekZ.k ds fy, dkSu lh lajpuk gS\ 

 v- fo/kkf;dk 

 c- dk;Zikfydk 

 l- fo'ofo|ky; 

 n- ikyZj 

253. What is Structure for rule-implementing? 

 a. Executive 

 b. Judiciary 

 c. Educational Institution 

 d. Church 

 dkuwu&fØ;kUo;u ds fy, dkSu&lh lajpuk gS\ 

 v- dk;Zikfydk 

 c- U;k;ikfydk 

 l- 'kS{kf.kd laLFkku 

 n- ppZ 

254. What is structure for Rule-adjudication? 

 a. Pressure group 
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 b. Interest group 

 c. Political Party 

 d. Judiciary 

 dkuwu laj{k.k ds fy, dkSu lh lajpuk gSA 

 v- ncko lewg 

 c- fgr lewg 

 l- jktuhfrd ny 

 n- U;k;ikfydk 

255. What does connect all elements of Political System? 

 a. Environment 

 b. Pressure 

 c. Communication 

 d. Socialization 

 jktuhfrd O;oLFkk ds lHkh rRoksa dks dkSu tksM+rk gS\ 

 v- i;kZoj.k 

 c- ncko 

 l- lapkj 

 n- lekthdj.k 

256. When did David Easton publish the book 'The Political System"? 

 a. 1953 

 b. 1954 

 c. 1955 

 d. 1956 

 ^nh ikWfyfVdy flLVe* uked iqLrd MsfoM baLVu us dc izdkf'kr dh\ 

 v- 1953 

 c- 1954 

 l- 1955 

 n- 1956 

257. Who is idealist thinker? 

 a. Hegel 

 b. Karl Marx 

 c. Kant 

 d. both (a) and (c) 

 vkn'kZoknh fpUrd dkSu gS\ 

 v- ghxsy 

 c- dkyZekDlZ 

 l- dk.V 

 n- nksuksa v vkSj l 

258. Who is the author of the book 'Critique of Pure Reason'? 

 a. Kant 

 b. Hegel 
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 c. Gandhi 

 d. Gramsi 

 ^fØVhd vkWQ I;ksj jhtu* uked iqLrd ds ys[kd dkSu gS\ 

 v- dk.V 

 c- ghxsy 

 l- xk¡/kh 

 n- xzke'kh 

259. Which among the following is the core concept of Idealism? 

 a. Material 

 b. Idea 

 c. both a and b 

 d. None of these 

 vkn'kZokn dh fuEufyf[kr esa ls dsUæh; vo/kkj.kk D;k gS\ 

 v- HkkSfrdrk 

 c- fopkj 

 l- nksuksa v vkSj c 

 n- buesa ls dksbZ ugha 

260. Which is one of the ideal value? 

 a. War 

 b. Peace 

 c. Violence 

 d. None of these 

 buesa ls dkSu lk ,d vkn'kZ ewY; gS\ 

 v- ;q) 

 c- 'kkfUr 

 l- fgalk 

 n- buesa ls dksbZ ugha 

261. Which Idealogy argue that ideas are the only true reality? 

 a. Idealism 

 b . Realism 

 c. Neo-Realism 

 d. Liberalism 

 dkSu&lh fopkj/kkjk ekurh gS fd fopkj gh dsoy okLrfodrk gS\ 

 v- vkn'kZokn 

 c- ;FkkFkZokn 

 l- uo&;FkkFkZokn 

 n- mnkjokn 

262. Who is father of „idealism‟?  

 a. Plato 

 b. Aristotle 

 c. Socrates 
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 d. Roussean 

 vkn'kZokn ds firk dkSu gS\ 

 v- IysVks 

 c- vjLrw 

 l- lqdjkr 

 n- :lks 

263. What is nature of state according to idealism? 

 a. both (c) and (d) 

 b. only (c) 

 c. Divine 

 d. Organic 

 jkT; dh izd̀fr vkn'kZokfn;ksa ds vuqlkj dSlh gS\  

 v- nksuksa l vkSj n 

 c- dsoy l 

 l- nSoh; 

 n- lkof;d 

264. What is true character of reality according to Idealists? 

 a. Physical 

 b. Mental 

 c. Material 

 d. Emotional 

 vkn'kZokfn;ksa ds vuqlkj okLrfodrk dk lgh pfj= D;k gS\ 

 v- 'kkjhfjd 

 c- ekufld 

 l- HkkSfrd 

 n- laosxkRed 

265. From which ideaology, Gandhi, Hegal, Kant belong - 

 a. Idealism 

 b. Socialism 

 c. Marxism 

 d. Communism 

 xk¡/kh] ghxsy] dkW.V fdl fopkj/kkjk ls gSa\ 

 v- vkn'kZokn 

 c- lektokn 

 l- ekDlZokn 

 n- lkE;okn 

266. What is primary to idealist? 

 a. Mind 

 b. Money 

 c. Matter 

 d. None of the above 
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 vkn'kZokfn;ka dks izkFkfed D;k gS\ 

 v- efLr"d 

 c- /ku 

 l- HkkSfrd 

 n- buesa ls dksbZ ugha 

267. What is politics according to idealists? 

 a. Power seeking activity 

 b. Service oriented activity 

 c. both (a) and (b) 

 d. None of these 

 vkn'kZokfn;ksa ds vuqlkj] jktuhfr D;k gS\ 

 v- 'kfDr iznku djus dh xfrfof/k 

 c- lsok mUeq[kh xfrfof/k 

 l- nksuksa ¼v½ vkSj ¼c½ 

 n- buesa ls dksbZ ugha 

268. What is important idea of Gandhism? 

 a. Truth 

 b. Non-violence 

 c. Violence 

 d. both a and b 

 xk¡/khokn dk izeq[k fopkj D;k gS\ 

 v- lR; 

 c- vfgalk 

 l- fgalk 

 n- nksuksa v vkSj c 

269. Which 'category' is central of analysis in Marxism? 

 a. Gender 

 b. Class 

 c. Caste 

 d. Community 

 ekDlZokn esa dkSu lh ^Js.kh* fo'ys"k.k dk dsUæ gS\ 

 v- fyax 

 c- oxZ 

 l- tkfr 

 n- leqnk; 

270. According to Marxist, what type of institution, the state is? 

 a. Organic 

 b. Welfare 

 c. Artificial 

 d. Natural 

 ekDlZokfn;ksa ds vuqlkj] jkT; fdl izdkj dh laLFkk gS\ 
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 v- vkWjxsfud 

 c- dY;k.k 

 l- d`f=e 

 n- LoHkkfod 

271. Among how many classes, the society is divided always according to Marx? 

 a. One 

 b. Two 

 c. Three 

 d. Four 

 ekDlZ ds vuqlkj] lekt ges'kk fdrus Hkkxksa esa c¡Vk gqvk gS\ 

 v- ,d 

 c- nks 

 l- rhu 

 n- pkj 

272. Who is ruling class in capitalist society according Marxian idealogy? 

 a. Bourgeoisie 

 b. Proletariat 

 c. both a and b 

 d. only b 

 ekDlZoknh fopkj/kkjk ds vuqlkj] iwathifr lekt esa 'kklu djus okyk oxZ dkSu gS\ 

 v- cqtqZvk 

 c- loZgkjk 

 l- nksuksa v vkSj c 

 n- dsoy c 

273. Who is working class in capitalist society according to Marxism? 

 a. Proletariat 

 b. Bourgeoisie 

 c. both (a) and (b) 

 d. None of these 

 ekDlZoknh fopkj/kkjk ds vuqlkj] iw¡thifr lekt esa etnwj oxZ 

 v- loZgkjk 

 c- cqtqZvk 

 l- nksuksa v vkSj c 

 n- flQZ c 

274. Which among the following concept is central in Marxism? 

 a. Equality 

 b. Liberty 

 c. Alienation 

 d. State 

 buesa ls dkSu&lh vo/kkj.kk ekDlZokn dk dsUæ gS\ 

 a. lekurk 
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 b. LorU=rk 

 c. vyxko 

 d. jkT; 

275. Whose slogan is this - Workers of the world unite? 

 a. Idealism 

 b. Anarchism 

 c. Realism 

 d. Marxism 

 ^nqfu;k ds etnwjksa ,d gks tkvks*& ;g fdldk ukjk gS\ 

 v- vkn'kZokn 

 c- vjktdrkokn 

 l- ;FkkFkZokn 

 n- ekDlZokn 

276. Which structure is considered 'base' in marxism? 

 a. Economy 

 b. Legislature 

 c. University 

 d. Temple 

 ekDlZokn esa dkSu lh lajpuk ^vk/kkj* gS 

 v- vFkZO;oLFkk 

 c- fo/kkf;dk 

 l- fo'ofo|ky; 

 n- eafnj 

277. Which organisation is considered „super-structure‟ in Marxist writing? 

 a. Government 

 b. Family 

 c. Religion 

 d. All of these 

 ekDlZ ds ys[ku esa ^vf/klwpuk* ds vUrxZr dkSu ls laxBu vkrs gSa\ 

 v- ljdkj 

 c- ifjokj 

 l- /keZ 

 n- mijksDr lHkh 

278. 'The Communist manifesto' was written by ________. 

 a. Fridrich Engels 

 b. Karl Marx 

 c. both a and b 

 d. Only b 

 ^n dE;qfuLV eSuhQsLVks* uked iqLrd fy[kh x;h gS& 

 v- QsMfjd ,axsYl 

 c- dkyZ ekDlZ 



67 
 

 l- nksuksa v vkSj c 

 n- dsoy c 

279. When was 'the communist manifesto published"? 

 a. 1849 

 b. 1848 

 c. 1850 

 d. 1845 

 ^n dE;qfuLV eSuhQsLVks* dc izdkf'kr gqbZ\ 

 v- 1849 

 c- 1848 

 l- 1850 

 n- 1845 

280. Which among the following ideology is Marxism against? 

 a. Marxism 

 b. Socialism 

 c. Capitalism 

 d. Communism 

 ekDlZoknh fuEukafdr esa ls fdl fopkj/kkjk dk fojks/kh gS\ 

 v- ekDlZokn 

 c- lektokn 

 l- iwathokn 

 n- lkE;okn 

281. According to Karl Marx, the present state will _______ 

 a. Continue for long 

 b. Will wither away 

 c. Deliver goods 

 d. Deliver services 

 dkyZ ekDlZ ds vuqlkj] orZeku jkT; ------------ 

 v- yEcs le; rd jgsxk 

 c- lekIr gks tk;sxk 

 l- leku iznku djsxk 

 n- lsok;sa iznku djsxkA 

282. According to Marxism, which type of organisation the „state‟ is? 

 a. Development 

 b. Natural 

 c. Protective 

 d. Exploitative 

 ekDlZokn ds vuqlkj jkT; fdl izdkj dk laxBu gS\ 

 v- fodklkRed 

 c- izkd`frd 

 l- laj{k.kdkjh 
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 n- 'kks"k.kdkjh 

283. Karl Marx is ______ 

 a. Socialistic thinker 

 b. Liberal thinker 

 c. Capitalistic thinker 

 d. None of the above 

 dkyZ ekDlZ ----------- gSA 

 v- lektoknh fopkjd 

 c- mnkjoknh fopkjd 

 l- iwathoknh fopkjd 

 n- buesa ls dksbZ ugha 

284. Who has used the term „Harizan‟? 

 a. Gandhi 

 b. Marx 

 c. Engels 

 d. Gramsci 

 gfjtu 'kCn dk iz;ksx fdlus fd;k gS\ 

 v- xk¡/kh 

 c- ekDlZ 

 l- ,atsYl 

 n- xzke'kh 

285. “The history of hitherto existing society is the history of class struggles” - who 

said it? 

 a. Arendt 

 b. Gramsci 

 c. Robert Owen 

 d. Marx 

 vc rd fo|eku lHkh lektksa dk fyf[kr bfrgkl oxZ la?k"kZ dk bfrgkl gS& ;g 

dFku fdlus dgk\ 

 v- vjs.V 

 c- xzke'kh 

 l- jkcVZ vksou 

 n- ekDlZ 

286. Which of the following idea of „Gandhiji‟ is considered as the apex of 

Gandhian Socialism? 

 a. Satyagrah 

 b. Non-Violence 

 c. Swarajya 

 d. Sarvodya 

 fuEufyf[kr esa ls dkSu lk xk¡/kh dk fopkj ^xk¡/khoknh lektokn* dk 'kh"kZ ekuk tkrk 

gS\ 
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 v- lR;kxzg 

 c- vfgalk 

 l- LojkT; 

 n- loksZn; 

287. In which year, Gandhi came back from south Africa? 

 a. 1915 

 b. 1916 

 c. 1917 

 d. 1918 

 xk¡/kh fdl o"kZ nf{k.k vÝhdk ls okil vk;s Fks\ 

 v- 1915 

 c- 1916 

 l- 1917 

 n- 1918 

288. Who said that 'There is no god higher than truth'? 

 a. Tolstoy 

 b. Finer 

 c. Gandhi 

 d. None of above 

 fdlus dgk fd ^lR; ls cM+k dksbZ Hkxoku ugha gS*\ 

 v- VkyLVk; 

 c- Qkbuj 

 l- xk¡/kh 

 n- mijksDr esa ls dksbZ ugha 

289. What is name of Gandhiji's authobiography? 

 a. My experiment with Truth 

 b. My experiment with Non-violence 

 c. My experiment with Love 

 d. None of the above 

 xk¡/khth dh vkRedFkk dk D;k uke gS\ 

 v- lR; ds lkFk esjs iz;ksx 

 c- vfgalk ds lkFk esjs iz;ksx 

 l- izse ds lkFk esjs iz;ksx 

 n- mijksDr esa ls dksbZ ugha 

290. What is the main teaching of Gandhiji? 

 a. Religion 

 b. Truth 

 c. Violence 

 d. Spirituality 

 Xkk¡/khth dk izeq[k f'k{kk D;k gS\ 

 v- /keZ 
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 c- lR; 

 l- fgalk 

 n- vkè;kfRedrk 

291. Who is author of the book 'Hind Swaraj'? 

 a. Gandhi 

 b. Tagore 

 c. Tilak 

 d. Bhagat Singh 

 fgUn Lojkt uked iqLrd ds ys[kd dkSu gS\ 

 v- xk¡/kh 

 c- VSxksj 

 l- fryd 

 n- Hkxr flag 

292. At which place of Bihar, Gandhi started „Satyagrah movement‟ for the first 

time in India? 

 a. Gaya 

 b. Champaran 

 c. Muzaffarpur 

 d. Madhubani 

 fcgkj dh fdl txg ij xk¡/kh th us Hkkjr esa ^lR;kxzg vkUnksyu* 'kq: fd;k\ 

 v- x;k 

 c- pEikj.k 

 l- eqt¶Qjiqj 

 n- e/kqcuh 

293. Which of the following, according to Gandhi, is an essential principle of 

Satyagrah? 

 a. Infinite Capacity for suffering 

 b. Non-violence 

 c. Truth 

 d. All of these 

 fuEukafdr esa ls dkSu lk lR;kxzg ds fy, vko';d fl)kUr gS] xk¡/khth ds vuqlkjA 

 v- nnZ lgus dh vlhfer {kerk 

 c- vfgalk 

 l- lR; 

 n- mi;qZDr lHkh 

294. Who was the political guru of Mahatma Gandhi? 

 a. Tilak 

 b. Gokhale 

 c. Dayanand Saraswati 

 d. All of these 

 egkRek xk¡/kh th ds jktuhfr xq: dkSu gS\ 
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 v- fryd 

 c- xks[kys 

 l- n;kuUn ljLorh 

 n- mi;qZDr lHkh 

295. Which one of following civilization is critised by Gandhiji? 

 a. Western Civilization 

 b. Eastern Civilization 

 c. both a and b  

 d. None of these 

 fuEufyf[kr esa ls dkSu lh lH;rk dh xk¡/kh th ds }kjk vkykspuk dh x;h gS\ 

 v- ik'pkR; lH;rk 

 c- iwohZ lH;rk 

 l- nksuksa v vkSj c 

 n- buesa ls dksbZ ughaA 

296. Who adopted 'Satyagrah marg' in Politics? 

 a. Tagore 

 b. Arbindo 

 c. Marx 

 d. Gandhi 

 jktuhfr esa ^lR;kxzg dk ekxZ] fdlus viuk;k\ 

 v- VSxksj 

 c- vjfoUnks 

 l- ekDlZ 

 n- xk¡/kh 

297. When was the book 'Hind Swaraj' published? 

 a. 1909 

 b. 1910 

 c. 1911 

 d. 1912 

 ^fgUn Lojkt* uked iqLrd dc izdkf'kr gqbZ Fkh\ 

 v 1909 

 c- 1910 

 l- 1911 

 n- 1912 

298. What did Gandhiji mean by 'Swaraj'? 

 a. Freedom for the country 

 b. Freedom for the meanest of the country men. 

 c. Self-government 

 d. Complete indepence 

 Lojkt ls xk¡/kh th D;k le>rs Fks\ 

 v- ns'k ds fy, LorU=rk 
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 c- ns'k ds detksjre O;fDr ds fy, LorU=rk 

 l- Lo-'kklu 

 n- iw.kZ LorU=rk 

299. Why of the following did Gandhiji describes as his two lungs? 

 a. Ahinsa and peace 

 b. Ahinsa and truth 

 c. Truth and Non-violence 

 d. Brahamcharya and Aparigriha 

 buesa ls fdu nksuksa dks xk¡/kh th us vius ^nks QsQM+ksa* ds :i esa o.kZu fd;k\ 

 v- vfgalk vkSj 'kkfUr 

 c- vfgalk vkSj lR; 

 l- lR; vkSj vfgalk 

 n- czãp;Z 

300. Who gave the title of 'Father of the Nation' to Gandhiji? 

 a. Subhash Chandra Bose 

 b. Bhagat Singh 

 c. Gokhale 

 d. Jawahar Lal Nehru 

 fdlus xk¡/kh th dks ^jk"Vªfirk* dh mikf/k  nh\ 

 v- lqHkk"k pUæ cksl 

 c- Hkxr flag 

 l- xks[kys 

 n- tokgj yky usg: 

 

 

 

 


